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2�	&���� �� �&������ �������4

Ax = b, 5���6

���� A ∈ C
n,n �� det(A) �= 0 ��� x, b ∈ C

n7 ��� ������ �� ���� �"����� �� �&����8
������� �� 
&
�� �����������-� �����	�� .&�,���� ������ ��� ��&��*�	 ��*�����
��� ������ )4

A = M − N, 5���6

���9*������ ��	� ��’ �:�� ���� ���������� ��� ��&��&������4
�6 . 5�&�&6&������
� ������� M �&"��� �� ����� ������&":���� ��������
96 ;��� �&������ ������� �� ������ ���������-� ���-��	� M �&"��� �� ���������
�� ���� ������&�� �&*<���7 ��� "�� *��� �� ������ ���������-� ���-��	� A�

3�������*,���� "��� �� ����������	
 ��
��4

x(k+1) = Tx(k) + c, ��� k = 0, 1, 2, . . . , 5�� 6

���� T = M−1N ∈ C
n,n, c = M−1b ∈ C

n ��� x(0) ∈ C
n ������
����� . ����8

��� T ��� ������&��"�� �

�� ����*,���� ����������	
� ����	�� ��� ������� ���

&�������������

! �"����� ���
7 �� �

�� ��� ������� ��� �� �
"�� 5�� 67 ��&*��� ��� ���������
�������*�	� {x(k)}∞k=07 � ����� ��� ���*������ ����
��� ���&�� �� ��������� ���
���� ��� �&
���� ����
����� 5���6�

�



= ��������	�
��� ��� �
���
����� Norm ��� ����������

"�
����� �+�+�+ ��	��� �������� �� ������������� 
�� �� � �	������� ��� �����
�
����� ����� ����������� {x(k)}∞k=0 ����� ���	�������� �
�� ���
 �� ���	����� ���
���� x = A−1b ��� ����	�� ����
����� �� �! 

%&*�����7 "��	 ����������� ��������� {x(k)}∞k=07 �� limk→∞ x(k) = y� >&�����8
������� ���� �&�� ��� k → ∞ ��� �
"�� 5�� 67 �� ����"����� �� "
���� ���4

y = Ty + c ⇐⇒ y = M−1Ny + M−1b

⇐⇒ My = Ny + b ⇐⇒ (M − N)y = b

⇐⇒ Ay = b ⇐⇒ y = A−1b, �#�� det(A) �= 0.

5��$6

.�����&-����� ��� ������ ���� ��� �&-�� %�&*�&�#� ��� ��&����� �����	�����
3�#������ �� "�� ������-��� 2�-&���7 �� ����� ��� ��&��&*#�� ��� ����
��� ���
�&"��� �� ��
���� -��� �� �<��#���,���� � �������� ���� �����������
� ������� ���
��&#
� 5�� 6� >&���,������ 	�����7 �� �������� 9�������� ?
���7 ��� ������<�
��� ������ ������*�� ��� @ A7 ����=/�

,�

� �+�+�+ "�� ��� �������	#� �������� ��� ����	� T ∈ C
n,n ������ 
��$

lim
k→∞

T k = 0 ���� ρ(T ) < 1, 5���6


��� ρ(T ) ����� � %������	
 �	���� ��� ��������� ��� ����	� T � �����
 �� ����������
��
 �� �#��� ��� ��������� ��� ����	� ����� 

B��&���� �-&� �� ��&����*����� �� ������&��"�� 2�-&����

-����
� �+�+�+ &	��
 	�� ����	��� ����
	� ��� �� ���	���� ��� �	�������� ���
�����
����� ����������� ��
 ��� ���
����� �� '!� ��� ���� x = A−1b ��� ����	��
����
����� �� �!� ����� � �(
�$

ρ(T ) < 1. 5��=6

)�����<�� ;�
����� 	� ���
� ��� �&��"����� ��� ����	� ��� ����
����� Ax = b
�� �����
��* 9
����7 �&�,���� 	� e(k) ∈ C

n �� ����������%���� �	� ���������-�
��� ���� k ����*��:�7 ���� k = 0, 1, 2, . . . � ;�
���� �����
 ���4

e(k) = x(k) − x, ��� k = 0, 1, 2, . . . . 5���6

B� 
&
�� �	� �
"��	� 5�� 6 ��� 5���6 �&������� ���4

e(k+1) = Te(k), ��� k = 0, 1, 2, . . . , 5��06



����� SOR ��� MSOR �	�����	����� �������� �

��- ����	���* ����������� ��� ����"�����4

e(k) = T ke(0), ��� k = 0, 1, 2, . . . , 5��/6

�� e(0) ∈ C
n ������
�����

C�� �� �����
���� �-&� �� ,�������� �������� �&"��� �� �<��#�������� ��� ��
��*�����8�#*��� e(k) ������ ��� �������� ��*�����7 ���-� � �&����� �	� ������
:�	�
k ������ ��� *���&�7 �����
 �&"��� �� ��
��� ���4

lim
k→∞

e(k) = 0, 5���(6

��� ������
���� ������
 ��� �&
���� �#*������ e(0) ∈ C
n�

B��&���� 	����� �� ����� ��� �� ��� �"�� ��� e(0) ��� �
"�� 5��/67 �"�����
�����
��* �� ����������8��
��� ej7 ��� j = 1(1)n7 ��� ���������� ������ I ∈ R

n,n7
���&����� 	� e(k) ��� ��������
�� ��
��� ��� ������ T k� ;����7 �<������ ��� ����������
�
"��	� "
���� ��������� ���4

lim
k→∞

T k = 0, 5����6

�����
 ��� �� ��
��� ��� ������ T k �&���* ������� ��� �������� ��*������ .����7
�<��������� �� ��������� ���� ����"����� 9*��� ��� ?
������ �����7 ��� ��&����*8
���� �&������"�	�7 �������������� "��� �� ,���������

"�
����� �+�+�+ )� *������ ���
 ��������+���� �������	� ��� ,'-� ��� ./�01 

��

��
 ���
���� ���������� ���� �����������	� �����
���

2�	&���� ��� ������������ ����&����4

x(k+1) = Tx(k) + c, ��� k = 0, 1, 2, . . . , 5����6

���7 "
����� 	� ���
� ��� �&��"����� ��� ����	� ��� ����
����� Ax = b �� �����8

��* 9
����7 �&����� �&������"�	� �� ��*�����8�#*��� e(k) ∈ C

n �	� ���������-�
��� ���� k ����*��:� �� k = 0, 1, 2, . . . , ��- ����	���* �����
<��� ���� �
"��
5��/6� >&��������-���� �-&� ��� ������
���� ����������	
 norm ‖.‖ ��� �
"��
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���
 9�"����� ���4

‖e(k)‖ = ‖T ke(0)‖

=⇒ ‖e(k)‖ ≤ ‖T k‖‖e(0)‖

=⇒ ‖e(k)‖
‖e(0)‖ ≤ ‖T k‖, ��� k = 0, 1, 2, . . . ��� e(0) �= 0

=⇒ supe(0)∈Cn\{0}
‖e(k)‖
‖e(0)‖ ≤ ‖T k‖, ��� k = 0, 1, 2, . . . ,

5��� 6

���� 	� norm ��� ������ T k 
&��������
���� �� %���	
 norm ��� �&������� ��� ���
��&��*�	 �����������
 norm ‖.‖ 	� �<
�4

‖T k‖ := sup
x∈Cn\{0}

‖T kx‖
‖x‖ , �� T k ∈ C

n,n. 5���$6

%�&���&���� ������ �	� �"�	 ��� ��������� ‖T k‖ ��"�
���� ���* �*���� �&���7
�� ������� ���* �� ����� �����-���� � norm ��� ��
���� �&
���� ��� �#*������
e(0) "����� ��� k ������
:��� ��� ����&����� 5����6� D�����7 �����
 � ���	�� ���
norm ��� �&
���� �#*������ ���������� �� �&��"����� ��� ����	� x = A−1b ���
����
����� 5���67 ����� ������"&�� �����#"&����� � ���"�� ��� ��
������ �� ��� �����
������
*����� � �&��"����� ���
�

%�&��"����� ����"�	� ���� ���������� �&�������

.�	�
/� �+�+�+ *������� ��� ����������	
 ����	� T1 ∈ C
n,n 2��+���� �� �#��

�������� ���	������ ��� ����������� ����������	�� ���������� ��� ���%
� �� �3!
���� ��
 k ������
4���� ��� #	%���� ��� ������� ��
 ��� ����$

Rk(T
k
1 ) = − ln

(
‖T k

1 ‖
1
k

)
= − ln ‖T k

1 ‖
k

, 5����6


��� ‖T k
1 ‖ < 1� ��� 	����� k ∈ {0, 1, 2, . . .} 	�� ��� ��� %���	
 norm ‖.‖ 

��� #����� ������ ����������	
 ����	� T2 ∈ C
n,n, ��� ��� ����� ������ 
�� ‖T k

2 ‖<1
	�� �������
��� #����� 
�� R(T k

1 ) > R(T k
2 )� �#�� ��� ����	�� T1 ����� ����������	�

��������� ��� T2 ��� k ������
4��� 
� 

������������ �-&� ��� ��������� �&���� ���� ��&���	�� ���� �� ��
��� �	� ���8
���
:�	� �	� �����
��-� 9��*�	� ��� ����&����� ������ ��� *���&�7 ��� "��� "
����
���4



����� SOR ��� MSOR �	�����	����� �������� /

.�	�
/� �+�+�+ 5 �#�� ���������	
 �������� ���	������ ��� ����������	�� ���
�������� �� �3! ������� ��
 ��� ����$

R∞(T ) = lim
k→∞

Rk(T
k) = − ln ρ(T ), 5���=6


��� T ∈ C
n,n ����� � ����������	
� ����	�� ��� ����������� �� ρ(T ) < 1 6��
���

��#��� �� ����������� 
�� � ������� ��
���� ��� ������� ����� ����� ���#���� ��
�
*���
����� ��� Varga� ��� ��������+���� ���� ���#���� ���� ���� ���
 7������%� 

� 

����� ����"�	� ��#"� ��� ���� ��&��*�	 �&������7 �	� � ��
����� ��������	�
���� �����������
� ������� ��� k → ∞ ����&�,���� ��
&	� ��� �� #�������
 ������
��� ������������� ������ ��� �������7 ��- ���� ��&���	�� ���� �� k ����� ����&�8
��"��7 ����� � �������%��� ��� #����
� norm ��� ������������� ������ ������7 ���
&����,�� ��� ��
����� ��������	� ��� ������&��"��� ��������

;)&�7 ��� ������ ���� �&������ ���&������ � ���"�� ��� �������%���� ��� ������8
��� ‖T k‖ ��� ���&"� �����"� ��"&���� ���"� ��� k7 ��� �� �������� �&������ ��� "
����
��� ��*���
 ��� ����� �� �������� 2�-&��� ��� �����,������ ��� ��� Varga 59�"��
@��A7 ����=08� 6�

-����
� �+�+�+ 8���� ����	�� T ∈ C
n,n �� ρ(T ) > 0 &����� �
�� 
��$

1

κ(S)
≤ lim inf

k→∞

‖T k‖(
k

p − 1

)[
ρ(T )

]k−p+1
≤ lim sup

k→∞

‖T k‖(
k

p − 1

)[
ρ(T )

]k−p+1
≤ κ(S), 5����6


��� p ����� � ��(� ��� ����������� block ��� Jordan 	�����	
� ���%
� J = S−1TS
��� ����	� T � 
��� 
��� �� block ���
 ����#���� �� ��� �������
 λ ��� T � �#���� ����∣∣λ∣∣ = ρ(T ) 

9	
��� κ(S) = ‖S‖ ‖S−1‖ ����� � ���	��� 	��������� ��� ����	� S� 
��� ‖.‖ �����
��� %���	
 norm 

)�����<�� 59�"�� @��A7 ����=08� 6

"�
����� �+�+�+ :�������� ������ �� �������	
 ���
 *������ 	�� ��� ,�'-� ����
������� ;<�;; 

� 

B��&���� "��� ��� �� 2�-&��� ����7 �� ���������� ��� ��&��&*#���� ���� ���8
���<
 ���7 �� �������-����� ��� ���-� k −→ ∞7 � ‖T k‖ ��������� ��� (7 ����	� ��

��� ��������
(

k
p − 1

)[
ρ(T )

]k−p+1
�
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%�&���&���� ������ �	� ���� p = 17 � �������� ‖T k‖ � ����� ��"�
�� ��� ��
�8

���� ��������	� ��� �������7 �����&�#"&���� ��	� � ��������
[
ρ(T )

]k
���<*&����

��� �� ��
��� �	� ������
:�	� k�
D�����7 ����� ������� � ������������� ������� T �*����� ������� ���� Jordan

�������
 ��&#
 ��� �� ��&�"
�� block ��������� ��� �
���,���� �� �������
 λ7 �"����
-���

∣∣λ∣∣ = ρ(T )7 �� �*<� p ≥ 2� ���� ��&���	�� ���
 ��� ��� ����� �� ��
��� �8
�����
:��� k7 � #�������
 ������ ��� ������ T ��� �������� ��"�� �<������� �"�&�
��"�
�� ��� ��
������ ��������	� ��� �������� �� #�������� ���� ������*��� �8
�	� �� ����� �&����&� ��� �� ��� �����
 ��&���	�� ��� SOR �������7 ��� ����� ���
�����*�� ��������*�

�"���7 ��� �

�� C;�� ��� %�&�&�
����� C; ��&����*,���� 	� ��&*������7 ���
�&�#��"� ��&���*���� ��� ��&��&*#��� ��� �����&�#�&* ��� ‖T k‖ ���� p = 1 ���
p = 27 ���� ����� ��#��"� �� #�������� ��� ��&��&*:��� �&������"�	��

��




���
	�� �

��	�	
����� ������� SOR


�� �������	

2�	&���� ��� ������ A ∈ C
n,n7 ����4

A =

[
D1 H
K D2

]
, �� n = p + q ��� p ≥ q, 5���6

���� �� D1 ∈ C
p,p7 D2 ∈ C

q,q ����� ����-���� ������� ��� H ∈ C
p,q7 K ∈ C

q,p�
2�	&���� �����
&��� �� ���
�� �������� ��� ������ �����7 �����
 "
���� ���4

A = D − L − U =

[
D1 O
O D2

]
−
[

O O
−K O

]
−
[
O −H
O O

]
. 5���6

C�	&�,���� �-&� �	� �� 
&
�� ���
� ��&�9-� ��� �����*��	�7 ���&���� �� ��8
������*����� ���� �������������� ������� �	� ���
��� Jacobi ��� SOR� %&*�����7
� ������� B = D−1(L + U) ����� � ������������� ������� ��� Jacobi �������7 ��
������������ �

�� ��� ������� ��� ��� �������� ����4

x(k+1) = Bx(k) + c, ��� k = 0, 1, 2, . . . 5�� 6

��� c = D−1b7 ��- � SOR 5Successive Over-Relaxation6 �"����� ��������
�7 �� ���8

��������� ������ ��� ��&#
� Lω = (D − ωL)−1
[
(1 − ω)D + ωU

]
7 "
�� ������������

�

��4
x(k+1) = Lωx(k) + cω, ��� k = 0, 1, 2, . . . 5��$6

��� cω = ω(D − ωL)−1b7 ���� ω ∈ C \ {0} ����� � �������� SOR������������

��



�� ��������	�
��� ��� �
���
����� Norm ��� ����������

%�&��"����� ��� ���"
��� �&���"��� ��������"� "������7 ��� ������ �� 
&�����8
������� ��
�* ��� �������� ��
�� ��� �&������ ���
�7 �� ���
� �*����� �� ���"��
�&���"�	� �� �	� �����
�	� �	� �����������-� �����	�7 ��� ����� ���#"&���� E���8
�*�� ������ �� ���� ���������� �&������4

.�	�
/� �+�+�+ 8���� ������������ ����	�� A ∈ C
n,n �� aii �= 0� ��� i = 1(1)n�

	������� ��	�	��	
� ���� ������� ��������	
� ����	�� P � �#����� ����$

PAP T =

[
D1 B
C D2

]
∈ C

n,n, 5���6


��� D1, D2 �������� ����	�� 
�� ���������� ����� ���������� 

%�&*������� )����������� ������� �� ��8�������* ����-��� ����
���7 ��	� ������
��� �� ������� ��� ��&#
� 5���6�

��

.�	�
/� �+�+�+ 8���� ��	�	��	
� ����	�� A ∈ C
n,n 	������� ������� ���������#���

���� ������ 
��$

σ
(
D−1(αL +

1

α
U)
)
≡ σ

(
D−1(L + U)

)
≡ σ(B), ��� 	��� α ∈ C \ {0}. 5��=6

:���������� ��� ��� �� σ(B) ���=���+���� �� %���� ��� ��������� ��� ����	� B�
�����
 ���� ����� �� ������ 
��� ��� ��������� ��� ����	� ����� 

%�&*������� %��*��� ��� ����������� �� ������&��"�� �&���� ���&���� �� �����
�	� ����� ���� �� �&�����-���� ������� �� ��8�������* ����-��� ����
���7 ��� ��� ��
������� ��� "
��� �� ��&#
 ��� �
"��	� 5���6�

��

.�����&-����� �-&� ��� �����	���
 ���
 %�&*�&�#�7 ��&����*,����� ��� �&��8
�* 
&
���� %&����� �
����* �� ��� �������"� ��� Jacobi ������ B7 ���#	�� �*�����
�� �� ��&#
 ��� ��#���,�� � �&
���� ������� A ∈ C

n,n�

(�/���� �+�+�+ >���#����� 
�� � A ∈ C
n,n ����� ��	�	��	
� 	�� ������� ���������#�

��� ����	�� )
�� �� ���������	#� �������#� ��� Jacobi ����	� B ∈ C
n,n ��%���+�����

�� �������� +���� 

)�����<�� 2�	&���� �� ��8�������
 �������
 μ ∈ C ��� Jacobi ������ B ∈ C
n,n�

+�
���� ���� �� ��&��*�	4

μ ∈ σ(B) \ {0} ⇐⇒ μ ∈ σ
(
D−1(L + U)

)
\ {0}. 5���6



����� SOR ��� MSOR �	�����	����� �������� � 

+�������� �-&�7 �<������ ��� ��� � A ����� ���������� ��� �����-� ���������"���
�������7 �������-����� ���4

μ ∈ σ
(
D−1

[
αL + 1

α
U
])

\ {0}, ��� �*�� α ∈ C \ {0}

⇐⇒ μ ∈ σ
(
D−1

[
(−1)L + 1

(−1)
U
])

\ {0}

⇐⇒ −μ ∈ σ
(
D−1(L + U)

)
\ {0}, ��	� ,��������.
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� 


�
 �
������ ��� �������

������� 9
�� ���� �&����� ���
 ����� �� �&�����&������ �� 
	&�� ������7 ����
���� �� ω 9&������� ����� ���7 ���� � SOR �� ���������� >�&����&�,���� �� 
	8
&�� ���� 	� ������
 ���	������ ��� ������&��"��� ������� ��� "��� ���9*������
��’ �:�� �&���"���� ��&��&������ ��� ��� �&
��� ������ A ∈ C

n,n7 �&��������� ��
�&�����&������ �� 
	&�� �����

%�&����*,���� ������ "�� �������&� 
&
���� �&������ ���� �&���*���* ��� ���
7
��� ��� ����� *��� ��� ��� ��&�#��� ��#�� ��� Young�

����� � ����� 	
� Young

-����
� �+�+�+ >���#����� 
�� � A ∈ C
n,n ����� ��	�	��	
� 	�� ������� ���������

�#��� ����	�� )
��� �� μ ∈ σ(B) 	�� λ �= 0 ��� �	�������� �� ��#��$

(λ + ω − 1)2 = ω2μ2λ, 5��/6

#����� 
�� λ ∈ σ(Lω)� 	�� ��������%� 

)�����<�� B����*�� ��� �&�,���� ��� ������ Lω −λI7 
&��������-���� ����
��-8
���� ��������� �&�,���-�� %�&���&���� "��� �� ��&��*�	4

det(Lω − λI) = det
(
(D − ωL)−1

[
(1 − ω)D + ωU

]
− λI

)
= 1

det(D)
(−1)n det

(
(λ + ω − 1)D − ωλL − ωU

)
= (−ωλ

1
2 )n det

(
λ+ω−1

ωλ
1
2

I −
[
D−1(λ

1
2 L + 1

λ
1
2
U)
])

.

5���(6



�$ ��������	�
��� ��� �
���
����� Norm ��� ����������

�<��-������ �-&� ��� �
"���� ���"� �� �� ( "
���� ���4

λ ∈ σ(Lω) \ {0} ⇐⇒ μ =
λ + ω − 1

ωλ
1
2

∈ σ
(
D−1(λ

1
2 L +

1

λ
1
2

U)
)
. 5����6

D�����7 ����"<��� �� �&�������� �� �� ��������� ��� �����-� ���������"�� ������
A ∈ C

n,n ��� �
"��	� 5���6� ����"�	�7 ����� ��#"� ���#	�� �� ��� .&���� �����7
�	� ��������� ��
��� ���4

μ =
λ + ω − 1

ωλ
1
2

∈ σ
(
D−1(L + U)

)
≡ σ(B). 5����6

������������� �"��� �	� � ,�������� �
"�� 5��/6 �&������� ��� �� �
"��4

μ =
λ + ω − 1

ωλ
1
2

, 5��� 6

���� �:-����� ���
 ��� ���&*�	��� ?��9*������ �����
 ��’ �:�� ��� %&�����
�����7 ��� ��� �<��#���,�� ��� μ ∈ σ(B) \ {0} ⇐⇒ −μ ∈ σ(B) \ {0}7 ���&���� ��
��
�&������� �	� ���� ����� �� �
"���� 5��/6 ��� 5��� 6 ����� �����������

"�
����� �+�+�+ )� ���	�	���#�� *������ ��������+���� �������	� ���� �������
��
 ,'-� ��� /� 

� 

����� Supremum �
��
	���� 
�	��
� 	
� Lω

>&��������-���� �-&� �� �
"�� ��� Young 5��/67 ��� ����� ������<���7 ��&����*8
,���� ��� ��������
 �����&����� 	� �&�� ��� ��&��

 ��������	� ��� SOR ��������
���
�� ��� ����� �� �� �"����� ��� ���*������ �&�F���"���� -��� �"�	 ��� �&������
���
�7 �� �����*�� �� �������� ���� ��������&�� ������&��� SOR �&�9���*�	�7 ���
������*�� ���� �&*<��

%&*�����7 ��� μ ∈ σ(B) ��� λ ∈ σ(Lω) ��
��� ���4

(λ + ω − 1)2 = ω2μ2λ ⇐⇒ λ2 − bλ + c = 0, 5���$6

����

⎧⎨⎩
b := b(ω, μ) = ω2μ2 − 2(ω − 1),

c := c(ω) = (1 − ω)2.
5����6

%�&���&���� �����
 �	� ��� �� ��
��� μ ∈ σ(B) �� �&�-���� ��� 5���$6 ��&����*,��

��� &�,�� λ
(μ)
1 , λ

(μ)
2 ∈ σ(Lω)� G������ ������ ��� �������� �&����4



����� SOR ��� MSOR �	�����	����� �������� ��

.�	�
/� �+�+�+ 5 SOR �#����� ���	����� ������ ���� ������ 
��$

ρsup(Lω) < 1, 5���=6


��� ρsup(Lω) := max
μ∈SB

ψ(μ), 5����6


��� ψ(μ) := max

{∣∣λ(μ)
1

∣∣ , ∣∣λ(μ)
2

∣∣}, 5���06

��� �� ������ μ ∈ SB� �� ��
�� ��� ��#���� ��� Young �3 /! 

.&�,���� ������ �	� SB ����� �� ���&���&� ��&�� ������ ��� ��&�"
�� ���� ���
�������"� ��� Jacobi ������ B�

"�
����� �+�+�+ ����� ��%#� ���%��� �� ��� �����
 ���
� ��� 
��� � SOR ���
�	����� ������� �� ���	����� ����
����� 	�� �� �� ���
�� #����� ���	������ ����
����������	
� ���
���� ��� �� ��������%� ��� ������ ������� ������� ���
 ��� ���
����%#��� � �����
� ���
� ����� 
�� ���� ����� �������� ��#�� #�� �����#� ��
=�����
�� ����� ����#��� �� ����	#� ����������� 
�� �� ���=�
���� �	����� 
��� �� ���	���

������ σ(B) ����� ��������� ��� SB 

� 

;H���&� ����"�	� ��� ��� �� ��&��*�	7 ������� �-&� �� �"�� �� �����
����� ���
��&��

 ��������	� ��� SOR �����������
� �������� D� �������
 �&
��
 ����
��
��
������ �	� ω ∈ C\{0}� D�����7 ��� �������� ��� �&������ ���
� ��� 
	&�� 9�*9�
��� �����������7 �� ��	&���� �	� ω ∈ R \ {0}7 ����� ��� �� ��#-� �� �����-�����
���#�&����*�

����� ����
�� ���������� 	�� SOR

-����
� �+�+�+ (Kahan) 9���	��� ����
	� ��� �� ���	���� ����� �����
 ���� ��
�� ���
�� #�����! ��� SOR ���
��� ����� � �	
�����$∣∣ω − 1

∣∣ < 1, 
��� ω ∈ C



ω ∈ (0, 2), 
��� ω ∈ R.

5���/6

)�����<�� H���"����� �	� � SOR ��������� ��
�&*� ����7 "
���� ���4

ρsup(Lω) < 1 =⇒ ρ(Lω) < 1, 5���(6



�= ��������	�
��� ��� �
���
����� Norm ��� ����������

��	&�,���� �����
 ��� ��� ���� ��� �������"� λi7 �� i = 1(1)n7 ��� ������ Lω ��
���
���

∣∣λi

∣∣ < 1� ���#	�� �-&� �� ��� C&�����
 ;)���9&� "
���� ���4

det(Lω) =
n∏

i=1

λi. 5����6

B��&���� ����"�	� �� ��&���&
����� ��� ��
���� �� ��&��*�	4∏n
i=1 λi = det

(
(D − ωL)−1

[
(1 − ω)D + ωU

])
= det

(
(D − ωL)−1

)
det

(
(1 − ω)D + ωU

)
= 1

det(D)
(1 − ω)n det(D) = (1 − ω)n.

5����6

>&��������-���� �"�&� ��� �&-�� ��� ��� ��������� ��
�� ��� �
"��	� ���
�7 9�"8
����� ���4 ∏n

i=1

∣∣λi

∣∣ < 1 ⇐⇒
∣∣∣∏n

i=1 λi

∣∣∣ < 1

⇐⇒
∣∣(1 − ω)n

∣∣ < 1 ⇐⇒
∣∣ω − 1

∣∣ < 1, ��	� ,��������.
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"�
����� �+�+�+ :�������� �� *������ ���
 ��� ,'-� ��� ;0 
� 

B��&���� ��� ������ ���� �� ����&������ ��� �� �����
����� ��������* ���
���#�&����"� ��&���-���� 	� �&�� ��� ��&��

 ��������	� ��� SOR7 ���#	�� �*�����
�� ��� ������
 ��� �&
���� ������ A ∈ C

n,n� %&*����� ��&���&���� �� ��&��*�	4

(�������� �0

>���#����� 
�� � ��	�	��	
� 	�� ������� ���������#��� ����	��$

A =

[
D1 H
K D2

]
∈ C

n,n 5���$6

����� ����
����� ��������
� 	�� ����	� �����#��� 
 ����	
���� ����#����� 
�� 
��� ��
�������#� ��� ����������� Jacobi ����	� B ����� ��������	#�� �� SB ⊂ (−1, 1) 8������
�����
 ��� �� ������ μ ∈ SB 
��$

0 ≤ μ2 ≤ β2, �� 0 ≤ β < 1. 5����6

G�����-����� ��� ����&��
 %&����� ��� ��&���-��	� ���
��



����� SOR ��� MSOR �	�����	����� �������� ��

(�/���� �+�+�+ 5 SOR �#����� ���	����� ������ ���� ω ∈ (0, 2) 

)�����<�� ;���	 �������"� μ ∈ SB ��� λ ∈ σ(Lω)7 �� ������ ����"����� ����<�
���� �"�	 ��� �
"��	� ��� Young4

(λ + ω − 1)2 = ω2μ2λ ⇐⇒ λ2 − bλ + c = 0, 5���=6

����

⎧⎨⎩
b := b(ω, μ) = ω2μ2 − 2(ω − 1),

c := c(ω) = (ω − 1)2.
5����6

H���"����� �	� � SOR ��������� ��
�&*� ;�
���� ���� ��������� ���4

ρsup(Lω) < 1

⇐⇒
∣∣λ∣∣ < 1, ��� �� ��
��� λ ∈ σ(Lω).
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���� 	������� ��� ������ ���
 � *����� ��� ����������
Schur� �#�� ��� ������ �������� �� �(�����
����� 	�������� ��� ��������� ���

��#�� 7�������+���� ����
� ��� ���#���� ��� ������� ���%��� ��� ��� �������	�
��� ��� ������� ���� ������ ��� *������ ���
�� ��� ��� ������
����� ������#�����
�����#������ ��� ��������� ��� ,.-� 7������%�� . ;� ������� @/��@/. 

(������
� Schur

2�	&���� �� k89����� ����-���� p ��4

p := p(λ) = akλ
k + ak−1λ

k−1 + . . . + a1λ + a0, 5���/6

���� ai ∈ C ��� �*�� i ∈ {1, 2, . . . , k} ��� aka0 �= 0�

.&�,���� ������ �� ����-���� p1 ��4

p1 := p1(λ) =
1

λ

[
p∗(0)p(λ) − p(0)p∗(λ)

]
, 5�� (6

���� p∗(λ) ����� �� k89����� ����-���� �� ���������"� ���� ��,����� ����������
���������"� ��� ����	����� p(λ)7 �� ������&�#� ��	� ���&*� G����
4

p∗(λ) = ā0λ
k + ā1λ

k−1 + . . . + āk−1λ + āk. 5�� �6

C�	&�,���� ���� ��� ��
���� �� ��������4
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.�	�
/� �+�+�+ )� ��������� p(λ) ����� ��������� Schur ���� 
��� �� ��+�� ���
#���� �#��� < 1 

-����
� �+�+�+ )� p(λ) ����� ��������� Schur ���� �� p1(λ) ����� ��������� Schur
	�� ��������� ������ 
��$

∣∣p∗(0)
∣∣ >

∣∣p(0)
∣∣⇐⇒

∣∣āk

∣∣ >
∣∣a0

∣∣⇐⇒
∣∣∣∣a0

ak

∣∣∣∣ < 1. 5�� �6

)�����<�� 59�"�� @=A7 ����$/ 8$/$6
��

����"�	�7 ���&���� �-&� �� �<��*����� ��� �����
 ��&���	�� ��� ��� �����#"8
&��7 ��� ��&���	�� �����
 ���� �� ����-���� p(λ) ����� ���������* "�� �&�-�����
%&*�����7 ����4

p(λ) = λ2 − bλ + c, �� b, c ∈ C, 5��  6

��&���&���� ���4

p∗(λ) = c̄λ2 − b̄λ + 1,

p1(λ) = 1
λ

[
p∗(0)p(λ) − p(0)p∗(λ)

]
=
[
1 −

∣∣c∣∣2]λ + cb̄ − b.
5�� $6

H���"����� ������ �	� ���� �� &�,�� ��� ����	����� p(λ) "
��� �"�&� < 1� ����7 ��
p(λ) ����� ����-���� Schur ��� "��� �� 
&
�� ��� 2�	&
����� ���� �<��#���,����
��� ��
� �	� �������	� �
"��	�4∣∣∣∣ b − cb̄

1 −
∣∣c∣∣2

∣∣∣∣ < 1, ���� 1 −
∣∣c∣∣ > 0. 5�� �6

+�������� �-&� "
���� ���4 ∣∣b − cb̄
∣∣ < 1 −

∣∣c∣∣2
⇐⇒

∣∣b − cb̄
∣∣+ ∣∣c∣∣2 < 1.

5�� =6

�"���7 �*� �����
����� ��� ����� ��� �����
 ��&���	�� ���� b, c ∈ R7 ��� ��
5�� �6 �&�������� �� �
"���� ��� �� 
&��������� ���� �&����� ���
� %&�������
�����
 ���4 ∣∣b∣∣ < 1 + c ���

∣∣c∣∣ < 1. 5�� �6

��



����� SOR ��� MSOR �	�����	����� �������� �/

�����&"#���� ����&� ��� �� ���&
 ���
 ��&"����� ��� #�������
 ������ ���
������������� ������ ��� SOR �������7 ����� ��� �������-����� �� ��������4∣∣λ∣∣ < 1, ��� �� ��
��� λ ∈ σ(Lω)

⇐⇒
∣∣b∣∣ < 1 + c ���

∣∣c∣∣ < 1.
5�� 06

)�������* �� ���������� ���������� ������ ���4

∣∣b∣∣ < 1 + c ⇐⇒

⎧⎨⎩
ω2(μ2 + 1) − 4ω + 4 > 0,

ω2(μ2 − 1) < 0
5�� /6

���
∣∣c∣∣ < 1 ⇐⇒ 0 < ω < 2. 5��$(6

)�� ��� �
"���� ���"�7 ���9*������ ��’ �:�� ��� �
"�� 5����67 �&������� �� ,��������
����"�����4

ω ∈ (0, 2). 5��$�6

�����-����� ��7 �	� 
&��������
���� ����������� ���� ������<� ���
7 �� ����"8
����� �� �<��#���,���� "��� � ��
�� ��� ��� ������&�#�� ����������	��

��

(�������� #0

>���#����� ���� 
�� � Jacobi ����	�� B ��� ����������� ���� ���� ����	
 ����	� A ∈
C

n,n� #��� ������ %�������	#� �������#� 8������ �����
 ��� �� ������ μ ∈ SB 
��$

−α2 ≤ μ2 ≤ 0, �� 0 ≤ α < +∞. 5��$�6

! ��&��*�	 %&����� ��&�"
�� ��� �
����"� ���&�#�&��� 	� �&�� ��� ��&��

 ��8
������	� ��� SOR7 ��� �����&� ���
 ��&���	���

(�/���� �+�+�+ 5 SOR ���	����� ������ ���� ω ∈ (0, 2
1+α

) 

)�����<�� .���	� �� �&��7 
&������������ �� �
"�� ��� Young 5��/67 ��	� ������
��� �� 2�	&�� �	� ����	���	� Schur ��� ������<��� �&������"�	�� '�"�����
������ ���4

λ2 − bλ + c = 0, 5��$ 6

��

⎧⎨⎩
b := b(ω, μ) = ω2μ2 − 2(ω − 1),

c := c(ω) = (ω − 1)2.
5��$$6
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;���	 ��� � SOR ��������� ��
�&*7 �����
 ���������4

ρsup(Lω) < 1, ��� �� ��
��� λ ∈ σ(Lω) 5��$�6

⇐⇒
∣∣b∣∣ < 1 + c ���

∣∣c∣∣ < 1. 5��$=6

)�������* 9�"����� ���4

∣∣b∣∣ < 1 + c ⇐⇒

⎧⎨⎩
ω2(μ2 + 1) − 4ω + 4 > 0,

ω2(μ2 − 1) < 0
5��$�6

���
∣∣c∣∣ < 1 ⇐⇒ 0 < ω < 2. 5��$06

.����7 �����-���� ��� ���������� ���"� ��� ���9*������ ��’ �:�� �� �
"�� 5��$�6
����������� ��������� ��� ����"&���� �	�4

ω ∈
(
0,

2

1 + α

)
. 5��$/6

.���	� �� ��� �&��������� ��&���	��7 � ��
�� ��� ������&�#�� ����������	�
�<��#���,���� ��� ��� ����������� ��� ����� 
&��������
�����

��


��  !������ SOR �!�����

C�� ����������� ��� �����-� ���������"���� ������� A ∈ C
n,n ���&���� �� �&�8

��"��� ��&���-���� �� �&�����&������ �� =#������ SOR �#����� B��&���� �����
 ��
9&���� ��� ���
 ��� ��&��"�&�� ω7 ��� ��� ����� � ��������
� SOR ��������� ����8
��	���* ��
���&�� %&�#��-�7 � ���������� ���
 ����� ��������
7 �#�� ��� �����#"&��
�������&� � ��
����� �� ��� �����7 � �����������
 �"����� ��� ����"<���7 ���������
��� ���� ��� �&�9�
����� ����

%�&����*,���� ������ ��� ������ ���� ��� ��	���&��
 �&��"����� ��� �����8
�&��"��� ,��
�����7 ��� ����� �� ��&������&�� ������"&����7 ��&��"��� � Young ���
9�9��� ��� Iterative Solution of Large Linear Systems @� A7 ���� ������� �/�8�((�

2�	&���� ��� �������"� �������"� μ ∈ SB ��� λ ∈ σ(Lω) �	� �����������-� ���*�	�
B ��� Lω ��������
�� C�	&�,���� �	� �� �������"� ���"� ����"����� ����<� ���� �"�	



����� SOR ��� MSOR �	�����	����� �������� ��

��� ��	��
� ��"�� �
"��	� ��� Young4

(λ + ω − 1)2 = ω2μ2λ

⇐⇒ λ + ω − 1 = ωμλ
1
2

⇐⇒ μ = 1
ω

(
λ

1
2 + ω−1

λ
1
2

)
.

5���(6

G�
������ 
	&�� 9�*9� ��� ����������� ���4

λ
1
2 = 
eiθ ��� μ = x + iy, 5����6

���� 
, θ, x ��� y �&��������� ��4


 ≥ 0,

x = 1
ω

(

 + ω−1

�

)
cos θ,

y = 1
ω

(

 − ω−1

�

)
sin θ.

5����6

B��&���� �� ����&������ ��� ������ ���� ��� ��&���-����4
%&*����� "��	 ��� 
2 �=

∣∣ω − 1
∣∣� ����7 �� ������ (x, y) ��� ������ �� ���������"���

����������� ��� ���������� �
"����7 9&������� �*�	 ���� "����:� E�7 ��� "
�� ���
�������� ��&#
4

E� :
x2

b2
+

y2

a2
= 1, 5��� 6

���� ��	&�,���� ���4

b := b(ω, 
) =
∣∣∣ 1
ω

(

 + ω−1

�

)∣∣∣,
a := a(ω, 
) =

∣∣∣ 1
ω

(

 − ω−1

�

)∣∣∣. 5���$6

�*� �*�� ��
��� ��� 
2 =
∣∣ω− 1

∣∣7 ��&���&���� ��� �� ���� ������ (x, y) 9&������� �-&�
�*�	 ��� �����&���� ��
��4

∣∣x∣∣ ≤ 2
√

ω − 1

ω
��� y = 0, ���� ω ≥ 1 5����6

��� ��������
� �*�	 ��� �����&���� ��
��4

x = 0 ���
∣∣y∣∣ ≤ 2

√
ω − 1

ω
, ���� ω < 1. 5���=6
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3���
&�����*7 ���&���� �� ���������� �� ��
���� ���* �����:���7 �� ��� ����� ��8
#"� �	� ��� ����������� ����� �<��	�� ��� ��&#
� 5��� 6�

�����&�������*7 ���� ��� ���<��� �"
&� �����
�7 ����� ��� � "����:� E� ���������*
�������� ������ �	� ����	� C� ��� C |ω−1|

�

7 ����4

C� :
∣∣λ 1

2

∣∣ = 
,

C |ω−1|
�

:
∣∣λ 1

2

∣∣ = |ω−1|
�

.
5����6

.� ������ ����� �����,����� ���� 
2 =
∣∣ω − 1

∣∣7 ���� ���� ��&���	�� ���
 � "����:�
E� ��� ���� ��������
�� ����� �� �����&���� ��
�� ��� ������ �&������"�	��

�����"��7 �� 
2 ≥
∣∣ω−1

∣∣7 ���&���� �� �������-����� ��� � "����:� E� ��<*��� ��
�"����� ���-� ��<*����� �� 
 ��� ����	� ���� 
2 ≤

∣∣ω−1
∣∣ � "����:� E� �<���������

�� ��<*��� ���-� �� 
 ���-������ ����"�	�7 ���&���� �� ��
�&������� �	� ��*&
��
��� "�� �&�� "�� ��������
�� ��*���� ��� �<	��&��� ��� E� ��� ��� �<	��&��� ��� C�

���� �&-�� ��&���	�� ��� ��� "�� �&�� "�� ��������
�� ��*���� ��� �<	��&��� ���
E� ��� ��� ��	��&��� ��� C�7 ��� �����&� ��&���	�� ��������
��

C�� ��&������&�� ������"&���� ���* ��� �*���� �

���� ��� �� 9�������� ����
������&� ��������� ��� �&��������	� ���
�7 �&��������� #����* ���� �����-���
��� %�&*�&�#� =�$ ��� 9�9���� ��� Young @� A�

������� �-&� �� �"�� "����� ��� ��� �������� ���� �&�����7 �� �&�
	&
�����
��� ���"�� ��� ��
������ ��������	� ��� SOR �������7 <����-���� ��� �� �����8
�� 2�-&���7 ��� ����� ������� ��#��
� � 
&��������� ��� �"
&� �-&� ��	���&��
�
�&��������	��

-����
� �+�+�+ 8���� 
�� A ∈ C
n,n ����� #��� ��	�	��	
� 	�� ������� ���������#���

����	�� ��� ���%
� �3 �! )
�� � SOR �#����� ����� ������ ���	�������� 
��� ���
	����� ����	
 �����
 D 	�� ������ �������
 μ = x + iy ��� Jacobi ����	� B� �� ������
(x, y) =���	���� ��� �������	
 ��� �����4��� E(1, D)� 
���$

E(1, D) : x2 +
y2

D2
= 1 5���06

	�� ����
����� ������ 
�� ω ∈
(
0, 2

1+D

)
 

9�������%� ����� ��� � SOR ���	������ �
�� 
��� �� �������#� ��� Jacobi ����	�
B =���	����� ��� �������	
 ��� �����4��� E(1, D) ��� 	����� D > 0� ��� �#��� ����
��������� 
��� �� μ ����� ������ ��� �����4��� ���
� 	�� � SOR ���	������ �
��
������ � ��#�� �3 <;! 

)�����<�� 59�"�� @� A7 �����/ 8�/$6
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(/�	�
� �+�+�+ :��%��� �� ��� ���A���#���� ��� ���������� *���
������ � SOR
���	����� ��� 	����� ω ���� ��� 	��� �������
 μ ∈ SB ������ 
��$∣∣Reμ

∣∣ < 1. 5���/6

������� �� � ��������� ��#�� ������� �������� �� �������������� 	����� ω̃ ���
� ���
������
� ���	������ ��� ���
���� �#���� ���� �� ������ 
��$

ρ(Lω̃) < 1, ��� 	��� ω ∈ (0, ω̃). 5��=(6

��

C�� �� �&�����&������ �-&� �� ω̃ ����7 ����"����� D ���*����� ���*��7 -���
���� �� �������"� ��� B �� 9&�������� ����� ��� �����:�	� E(1, D)� )&��� ������ ��
����"<����4

D =
α

(1 − β2)
1
2

, 5��=�6

���� α := maxμ∈SB
(Imμ) ��� β := maxμ∈SB

(Reμ)�

B��&���� ����&� ��� �� ��&��*�	7 �� �&�����&������ ��� ���
 ��� ��&��"�&��
ω7 ��� ��� ����� ���
������������ � #�������
 ������ ��� ������ Lω7 ���#	�� �*�����
�� ���*������� ��&��&������ ��� ��� �������"� ��� Jacobi ������ B�

H���"����� ��� � ������� B "
�� �&�������"� ��� #��������"� �������"�� )��8
,��*�� ������ �� ���&���&� ���
 ��� 
7 ��� ��� ����� ��*&
�� ω �� 
2 ≥

∣∣ω − 1
∣∣

��� �����
&���7 �"���� -��� �� �������"� ���"� �� 9&�������� ��� ������� ��	��&���
��� �����:�	� 5��� 6� �����
 ��&�9-� "
���� ��� 
2 ≥

∣∣ω − 1
∣∣7 �� 
&
�� ��� 5���$6

�&������� ���4

b =
1

ω

(

 +

ω − 1




)
, a =

1

ω

(

 − ω − 1




)
. 5��=�6

���������� ��� ���������� �
"���� 	� �&�� 
 ��� ω "
���� ���4

ω =
2

1 + (1 + a2 − b2)
1
2

, 5��= 6


 =
ω(a + b)

2
=

a + b

1 + (1 + a2 − b2)
1
2

. 5��=$6

%�&���&���� ��� �� �� ������&��"�� ������
 �	� ω ��� 
 "
���� ��� 
2 ≥
∣∣ω − 1

∣∣7
�#�� ��
���4


 −
∣∣ω − 1

∣∣ 1
2 =

a + b −
∣∣a2 − b2

∣∣ 1
2

1 + (1 + a2 − b2)
1
2

≥ 0. 5��=�6
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∂


∂a
=

(1 + a2 − b2)
1
2 + 1 − b2 − ab

(1 + a2 − b2)
1
2

[
1 + (1 + a2 − b2)

1
2

]2 > 0, 5��==6

∂


∂b
=

(1 + a2 − b2)
1
2 + 1 + a2 + ab

(1 + a2 − b2)
1
2

[
1 + (1 + a2 − b2)

1
2

]2 > 0, 5��=�6

�<������ ��� ���4

1 + a2 − b2 − (1 − b2 − ab)2 = (a + b)2(1 − b2) > 0. 5��=06

B��&���� ����"�	� �� ��
�&������� ��� �� 
 ���9*��� �� ���&���&� ���
 ���7
���� ��������
� �� ��&*���&�� a ��� b ���
�������������� G����
 ���#�&������ ����
��&���	�� ���� a := α ��� b := β� ����7 9�"����� ���4

ωb =
2

1 + (1 + α2 − β2)
1
2

, 5��=/6

ρ(Lωb
) =

[
α + β

1 + (1 + α2 − β2)
1
2

]2

. 5���(6
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����� �+�+�+ 9(�+�� ��� ������ ���
 �� ����������� 
�� � ���#�� ��� ����	
���
��� ������������ 
��� � Jacobi ����	�� B ��������+�� ������ ��������	#� �������#�
	�� ����
����� ������ 
�� σ(B) ⊂ (−1, 1)� ��������+���� �������	� ���� :���������
9�������	
� "�����	
� 89���=��� ��� B�����
� C������ 	�� ?��+��
���� ���� �����
��� /3�/@ 7�
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���� ����=��	
� ��� �� ������ �		������
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�" Jordan �������	 ��#$	 ��� ������ Lωb

�� �/�$ � Young ���� �&����� ��� Iterative Methods for Solving Partial Differe-
ntial Equations of Elliptic Type 59�"�� @��A6 ��"���<� ��� ���� � ������� A ∈ C

n,n �����
���������� ��� �����-� ���������"���7 ������&":���� �� �����* ����-��� ����
��� ���
�����
&��� �� �������"� ��� B ����� �&�������"� �� �"�&� < 17 ���� � Jordan �������

��&#
 ��� Lωb

��� ����� ����-����



����� SOR ��� MSOR �	�����	����� �������� ��

���� ��&���	�� �-&� ��� � ������� A "
�� �� ��&#
4

A =

[
D1 H
K D2

]
∈ C

n,n, 5����6

�*�� ��� ��� Young7 "
���� ��� ������<� ��� �&���������� ��
�&�����7 ��� 9�9���
��� @� A7 ���� ������� � $8� /� ! ���������� ��� 
&������������� ��� ��� ������<�
���
7 ���� ��&��&�#��* "
�� 	� �<
�4

2"����� ��� ����������� �	� ���������-� ��� ���4

F := −D−1
1 H ��� G := −D−1

2 K. 5����6

����7 � Jacobi ������� B "
�� �� ��&#
4

B =

[
O F
G O

]
∈ C

n,n. 5��� 6

%�&���&���� �-&� ���4

B2 =

[
FG O
O GF

]
∈ C

n,n, 5���$6

��� "��� ��� �� ��
��� μ ∈ σ(B) "
���� ���4

μ2 ∈ σ(B2) ⇐⇒ μ2 ∈ σ(FG) ∪ σ(GF ). 5����6

B��&���� �����
 �� 9&���� ��� �������"� ��� �� �������������� ��� B7 �"�	 �	� ����8
���-� ��� �����������*�	� �	� ���*�	� FG ��� GF � ���
�� ����� �� ��������*�����
"��� ��� 9*�� ��� �������������� ��� Jacobi ������ B�

�<*����7 ��	&�,���� ��� �� �������"� �	� B ��� Lωb
����"����� ����<� ���� �"�	

��� �
"��	� ��� Young4
(λ + ωb − 1)2 = ω2

bμ
2λ. 5���=6

������,���� �� ��� �&��� ���� �� �������������� ���* ��� �� 	���� �principal!
���������� ��� Lωb

7 ��������*,����� ���� ������� S ��� J ��� Jordan �������
�
��&#
� ��� Lωb

4
S−1Lωb

S = J. 5����6

G������-����� ������ �	� � ����=��	
 �������
���� ��� �������
� λ7 �� �"�&� ���
������ ��������
�� ���� ρ(Lωb

)7 ����� ��� �� �� ����"�	�7 ��	� ���#"&��� ���� %�8
&*�&�#� ��� ��� �&���������� 3�#������7 � �*<� ��� ��������&�� block ��� Jordan
�������
� ��&#
� ��� Lωb

7 ���� �� block ���� ����"���� �� ��� �������
 λ ��� Lωb
��∣∣λ∣∣ = ρ(Lωb
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�= ��������	�
��� ��� �
���
����� Norm ��� ����������

���� ��&���	�� ���
7 � �������� ‖T k‖ � ����� ��"�
�� ��� ��
����� ��������	�
��� ������� "
�� �����&�#�&* ��� �*���� ���&� �&���� ������
:�	� k7 ���#�&����

��� ���
� ��� #�������
� ������� ��� Lωb

59�"�� 2�-&��� �����6� ;)&�7 � #�������

������ ��� Lωb

��� �������� ��"�� �<������� �"�&� ��"�
�� ��� ��
������ ��������	�
��� �������7 ��� ����� �*����� �� ��
��� ������
:���� C�� k −→ ∞ ��� ������� �"��
#����*7 �#�� � ρ(Lωb

) ��� �<��#���,�� �� ,���������

���#	�� ����"�	� �� �� ��&��*�	7 ����� ��#"� ����� �� ����� ����"����� ����
��&���� �&����� �� ��
�������� �� �� ���"�� ��� ‖T k‖ ��� #����* ��� ���
��������8
�� ���
�� I� �����-����� �"���7 ��� ����"����� �� 
&��������
����� ��� ��	�������
norm ‖.‖27 �����-���� �� �&-�� #*�� ��� ��������&� ��&���	�� ���� k = 1�

��




���
	�� !

���
�����	 norm ��� Lω

��� %�&���� '���(���)� ���)� ��� *#���)���� *�
���������

D� ������ ��������� ��� ��&����� 3�#������ �&�,���� �� ����� �� 2�-&��� 9���
����� &���+����� )���� �Singular Value Decomposition! ��
� ����	�7 ��� ������ �
������� ����� ������-��� ��� ���� ��������� �������������

-����
� �+�+�+ *������� ����	� M ∈ C
p,q 	�� #��� q = min{p, q} )
�� �������

����	�� Σ = [σij] ∈ R
p,q �� σij = 0 ��� 	��� i �= j 	�� σ11 ≥ σ22 ≥ ... ≥ σqq ≥ 0� 
���

������ �������� 	�� ��� �������������� ����	�� U ∈ C
p,p 	�� V ∈ C

q,q� �#����� ����
�� ������ 
�� M = UΣV H  6��
��� �� M ∈ R

p,q �������� �� ����#(���� ���� U 	��
V �� ����� ���������� ����	�� 

)�����<�� 59�"�� @�A7 �����$$8�$�6
��

B��&���� ��"�	� �-&� �� �������-����� �� 
&��������� ��� 2�	&
����� �����7
��� ���"�� �&���"�	� �� �	� �����
�	� ���� ������ ��� ������
� ����

%&*�����7 ��	&���� �� ��������� ��� �����-� ���������"�� ������4

A =

[
Ip −M

−N Iq

]
∈ C

n,n, �� n = p + q ��� p ≥ q, 5 ��6

���� ���#	�� �� �� ��&��*�	 2�-&���7 � 9������ &���+����� )���� (S.V.D.) ���
������ M ∈ C

p,q "
�� 	� �<
�4
M = UΣV H , 5 ��6

��



�0 ��������	�
��� ��� �
���
����� Norm ��� ����������

���� ��	&�,���� ��� �� U, V ����� �&������������ �������7 �����
 "
���� ���4

UUH = Ip ��� V V H = Iq, 5 � 6

��- Σ =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

σ11 0 · · · 0
0 σ22 · · · 0
���

���
� � �

���
0 0 · · · σqq

0 0 · · · 0
���

���
� � �

���
0 0 · · · 0

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
∈ R

p,q 5 �$6

����� � ������� ��� ��&�"
�� ��� ���������"��� ���* #������� ���&* ����+����� ���#�
σii7 ��� i = 1, 2, . . . , q7 ��� ������ M � �����-����� ��7 �	� �� ���
� ��� ����������
�	� ��&���*��	� ��� �� 
&��������
����� ��� ���"
���7 ��
������ ��� σi := σii ���
�*�� i ∈ {1, 2, . . . , q}7 ��	� ������ ��� �� ���#������ ��
�� ���&���"��� ��&���-����
��
������ �	� σi > 0 ��� �*�� i ≥ 1�

)����7 
&������������ ������ N ��� ��&#
�4

N = EMH = (V ẼV H)(V ΣHUH)

= V ẼΣHUH ∈ C
p,q,

5 ��6

�� Ẽ =

⎡⎢⎢⎢⎣
e1 0 · · · 0
0 e2 · · · 0
���

���
� � �

���
0 0 · · · eq

⎤⎥⎥⎥⎦ ∈ R
q,q ���

⎧⎨⎩
ei = +1, ∀i ∈ {1, 2, . . . , q}



ei = −1, ∀i ∈ {1, 2, . . . , q},
5 �=6

"
����� 	� ��-��&� ���
�7 ��� ��������
 ���"�� �	� ����"&��� ��&���-��	�7 ���
��� �&��#"&�� � ������
 ���
�

"�
����� �+�+�+ :�� ��
����� ��
�� ��� �������� ���
�� ������ �		������ ���

���� ���� ������������ ��� �	��������� �������� � ��#� ��� ���#��� ��� ���
���
>������������� ��������������� ��� ����+����� ���#� ��
� ����	� �� ��������
 ��
�� ��#�� ��� Young� ��� ������ ��� ����������� D�%����� *� ��#��� ����
� ��
������������ 
�� ��
	����� ��� ��#� ��� Golub 	�� De Pillis� � ����� ��������+����
�������	� ��� ,@- 

��



����� SOR ��� MSOR �	�����	����� �������� �/

����� �����
���� 	���� 	
�  ��
�
 M �
� ���
	���� 	
� Jacobi
 ��
�
 B

. ������������� Jacobi ������� B7 ��� ��������
�� ��� ������&��"�� ������
 ���
�&
���� ������ A ��� �
"��	� 5 ��67 ����� � ���������4

B =

[
O M
N O

]
∈ C

n,n. 5 ��6

2"����� ��� ������ ���� �� �&�����&������ �� �
"�� ��� ����"�� ��� �������"�
��� Jacobi ������ B �� ��� ���*,����� ���"� σi7 ��� i = 1, 2, . . . , q7 ��� ������ M �

2�	&���� ��
��� �������
 μ ∈ C ��� ������ B� %�&���&���� ������ ��� ��
����
�� ��������4

μ ∈ σ(B) ⇐⇒ μ2 ∈ σ(B2), 5 �06

���� B2 = BB =

[
O M
N O

] [
O M
N O

]
=

[
MN O
O NM

]
∈ C

n,n. 5 �/6

;�
���� �����
 ��������� �	�4

μ2 ∈ σ(MN) ∪ σ(NM), ����4 5 ��(6

MN = MEMH = (UΣV H)(V ẼV H)(V ΣHUH)

= UΣẼΣHUH ,

NM = EMHM = (V ẼV H)(V ΣHUH)(UΣV H)

= V ẼΣHΣV H .

5 ���6

"�
����� �+�+�+ ����� ���%��#� ��� �� ����	�� MN 	�� ΣẼΣH ����� 
����� ����(�

����� 
��� ���������� ���=����� �� ���� ����	�� NM 	�� ẼΣHΣ E������� ����
�
�� ������������ ��� �� MN 	�� NM ��������+��� ��� ����� ���������	#� �������#��
	��� �� ����� ������� ��%#� ��
 ��� �������	
 ���%
 ��� ����	��� ��� ����	��$

ΣẼΣH =

⎡⎢⎢⎢⎢⎢⎢⎢⎣

e1σ
2
1 0 · · · 0 · · · 0

0 e2σ
2
2 · · · 0 · · · 0

   
   

   
   

   
0 0 · · · eqσ

2
q · · · 0

   
   

   
   

   
0 0 · · · 0 · · · 0

⎤⎥⎥⎥⎥⎥⎥⎥⎦
∈ R

p,p 5 ���6



 ( ��������	�
��� ��� �
���
����� Norm ��� ����������

	�� ẼΣHΣ =

⎡⎢⎢⎢⎣
e1σ

2
1 0 · · · 0

0 e2σ
2
2 · · · 0

   
   

   
   

0 0 · · · eqσ
2
q

⎤⎥⎥⎥⎦ ∈ R
q,q. 5 �� 6

����"�	�7 ����������� ��� ��&��*�	 ��������� ����"&����4

μ2 ∈ σ(B2) ⇐⇒ μ2 ∈ σ(MN) ⇐⇒ μ2 ∈ σ(ΣẼΣH) 5 ��$6

⇐⇒

⎧⎨⎩
μ2 = eiσ

2
i , ��� �*���� i ∈ {1, 2, . . . , q}



μ2 = 0 ⇐⇒ μ = 0.

5 ���6

��

��
 �������������� ��� ‖Lω‖2

. ������������� ������� Lω ��� SOR �������7 ��� ��� ������ A ��� �
"��	� 5 ��6
��� ����"<��� �� 
&��������
����� ���� �&��������� ��&*�&�#�7 "
�� ��� ��&��*�	
��&#
4

Lω =

[
(1 − ω)Ip ωM

ω(1 − ω)N ω2NM + (1 − ω)Iq

]
∈ C

n,n 5 ��=6

=

[
(1 − ω)Ip ωUΣV H

ω(1 − ω)V ẼΣHUH ω2V ẼΣHΣV H + (1 − ω)Iq

]
5 ���6

=

[
U O
O V

] [
(1 − ω)Ip ωΣ

ω(1 − ω)ẼΣH ω2ẼΣHΣ + (1 − ω)Iq

] [
UH O
O V H

]
. 5 ��06

2"����� �-&� ���4

Q :=

[
U O
O V

]
∈ C

n,n 5 ��/6

��� Γω :=

[
(1 − ω)Ip ωΣ

ω(1 − ω)ẼΣH ω2ẼΣHΣ + (1 − ω)Iq

]
∈ R

n,n 5 ��(6



����� SOR ��� MSOR �	�����	����� ��������  �

��� "���7 �"
&� �����
� ���<��� ��� � ������� Lω "
�� �� ��&#
4

Lω = QΓωQH . 5 ���6

>&������������ ��� ������ ���� ���*����� ���������� ������ P ∈ R
n,n7 � ���8

�����
 ��&������� ��� ������ ������� ��� %�&*&���� ';7 -��� �� ��
��� ���4

Δ(ω) = PΓωP T =

⎡⎢⎢⎢⎢⎢⎣
Δ1(ω) O · · · O O
O Δ2(ω) · · · O O
���

���
� � �

���
���

O O · · · Δq(ω) O
O O · · · O (1 − ω)Ip−q

⎤⎥⎥⎥⎥⎥⎦ ∈ R
n,n, 5 ���6

���� ��� �� ��
��� i ∈ {1, 2, . . . , q} "
����4

Δi(ω) =

[
1 − ω ωσi

ω(1 − ω)eiσi ω2eiσ
2
i + 1 − ω

]
∈ R

2,2. 5 �� 6

����"�	�7 �������-����� ���4

Lω = QP T Δ(ω)PQH 5 ��$6

��� LH
ω Lω = QP T ΔH(ω)Δ(ω)PQH , 5 ���6

���� ��	&�,���� �	�4

(QP T )−1 = PQH ��� 5 ��=6

ΔH(ω)Δ(ω) =

⎡⎢⎢⎢⎢⎣
ΔH

1 (ω)Δ1(ω) O · · · O O
O ΔH

2 (ω)Δ2(ω) · · · O O
���

���
� � �

���
���

O O · · · ΔH
q (ω)Δq(ω) O

O O · · · O (1 − ω)2Ip−q

⎤⎥⎥⎥⎥⎦ ∈ R
n,n.

5 ���6

�-&� ������7 ������� �� �"�� �� �<��
����� ��� ����� ���"����� �	� ��&��*�	
���������-�� %&*�����7 �� ,�������� ���� ��&*�&�#� ���
 ��� ����� *��� ��� ���
��������4



 � ��������	�
��� ��� �
���
����� Norm ��� ����������

‖Lω‖2
2 = ρ

(
LH

ω Lω

)
= ρ

(
ΔH(ω)Δ(ω)

)
= max

{
max1≤i≤q ρ

(
ΔH

i (ω)Δi(ω)
)
, (1 − ω)2

}

= max

{
max1≤i≤q ‖Δi(ω)‖2

2, (1 − ω)2

}
,

5 ��06

���� ��� �� ��
��� i ∈ {1, 2, . . . , q} ��	&�,���� �	� ��
��� ���4

ΔH
i (ω)Δi(ω) =

[
1 − ω ω(1 − ω)eiσi

ωσi ω2eiσ
2
i + 1 − ω

] [
1 − ω ωσi

ω(1 − ω)eiσi ω2eiσ
2
i + 1 − ω

]

=

⎡⎢⎢⎢⎢⎣
1 + ω2 − 2ω + ω2e2

i σ
2
i + ω4e2

i σ
2
i + ωσi − ω2σi + ω3e2

i σ
3
i + ωeiσi+

−2ω3e2
i σ

2
i −ω4e2

i σ
3
i − 2ω2eiσi + ω3eiσi

ωσi − ω2σi + ω3e2
i σ

3
i − ω4e2

i σ
3
i + ω2σ2

i + ω4e2
i σ

4
i + 1 + ω2 − 2ω+

+ωeiσi − 2ω2eiσi + ω3eiσi +2ω2eiσ
2
i − 2ω3eiσ

2
i

⎤⎥⎥⎥⎥⎦ ∈ R
2,2.

5 ��/6

"�
����� �+�+�+ 5 norm ‖.‖2 ��� �
��� ����������
���� ����� �����
 �� ��	����
���� 
 F������	
 norm ��
� ����	� 

2�	&���� �-&� ��� ��
��� �������
 ϑ ∈ C ��� ������ ΔH
i (ω)Δi(ω) ��� "��� 9�"8

����� ���4

ϑ ∈ σ
(
ΔH

i (ω)Δi(ω)
)

5 � (6

⇐⇒ det
(
ΔH

i (ω)Δi(ω) − ϑI
)

= 0 5 � �6

⇐⇒ ϑ2 − Tϑ + c = 0, 5 � �6

����

⎧⎨⎩
T := T (ω, ei, σ

2
i ) = (1 − ω)2(1 + ω2e2

i σ
2
i ) + ω2σ2

i + (1 − ω + ω2eiσ
2
i )

2,

c := c(ω) = (1 − ω)4.
5 �  6
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'&��������� ����"�	� ��� ������7 ���� ���&���� ��"�� �� �����
����� ��� <�
	8
&���"� ��&���-����7 ��*���� �� ��� ���
 ��� ���9*��� � ������ ����9���
 ei ��� ���
�����
&��	� �� i ∈ {1, 2, . . . , q}�

(�������� �0

8���� 
�� ei = +1 ��� 	��� i ∈ {1, 2, . . . , q} 

8������ �
�� 
�� Ẽ = Iq 	�� N = MH � �� ����#����� � ����	��$

A =

[
Ip −M

−MH Iq

]
∈ C

n,n 5 � $6

�� ����� ��������
�� ��	�	��	
� 	�� ������� ���������#��� G����� �����#�� �� �����
	�� ����	� �����#��� ����	���

B����*�� �-&� ��������* ��� ��&���	�� ���
7 ���9*������ ��	� ��’ �:�� �	�
���#	�� �� ���* ��� ������<��� ��� �&��������� 3�#*����7 � SOR �"����� ��8
������� ��
�&* ��8� ω ∈ (0, 2)�

(�/���� �+�+�+ 2 ����������� Jacobi ����	��$

B =

[
O M
MH O

]
∈ C

n,n 5 � �6

#��� 
��� ��� �������#� ��� ��������	#�� 	�� ������� ������ 
��$

0 ≤ μ2 ≤ β2, �� 0 ≤ β < 1. 5 � =6

)�����<�� ;���	 ��
��� μ ∈ SB ⇐⇒ ∃x ∈ C
n \ {0}7 �"���� -���4 Bx = μx

⇐⇒ D−1(L + U)x = μx ⇐⇒ (L + U)x = μDx

⇐⇒ (−D + L + U)x = (μ − 1)Dx ⇐⇒ Ax = (1 − μ)Dx

⇐⇒ xHAx = (1 − μ)xHDx.

5 � �6

.� ������� A ��� D ����� �&�������� ��� �����* �&���"���7 �� ���"���� �� ��
��� ���4

xHAx > 0 ��� xHDx > 0. 5 � 06

����"�	�7 
&��������-���� ��� ��������� �
"�� ��� ����
����� 5 � �6 9�"�����
���4

1 − μ > 0 ⇐⇒ μ < 1, ��� �� ��
��� μ ∈ SB. 5 � /6



 $ ��������	�
��� ��� �
���
����� Norm ��� ����������

���#	�� 	����� �� ��� %&����� �����7 "
���� �	� �� ��8�������"� �������"� ���
Jacobi ������ B ��#���,����� �� �������� ,����� .����7 �����* ����������� ���
����"&���� �	�4

��� �*�� μ ∈ SB ��
��� ���4
∣∣μ∣∣ < 1 ⇐⇒ ρ(B) < 1. 5 �$(6

��

;.��� �#�&* �-&� ��� ������ Lω ��� SOR �������7 ��&���&���� ��� ����� ��8
&����*,�� ��� �������� ��&#
4

Lω =

[
(1 − ω)Ip ωM

ω(1 − ω)MH ω2MHM + (1 − ω)Iq

]
∈ C

n,n, 5 �$�6

��- �� �&�-���� 5 � �6 "
�� 	� �<
�4

ϑ2 − Tϑ + c = 0, 5 �$�6

�� ϑ := ϑ(i) ���-� � �������
 ���
 ��������
�� �� �*���� ��� �� i ∈ {1, 2, . . . , q}7 ���⎧⎨⎩
T := T (ω, σ2

i ) = (1 − ω)2(1 + ω2σ2
i ) + ω2σ2

i + (1 − ω + ω2σ2
i )

2,

c = c(ω) = (1 − ω)4.
5 �$ 6

B����*�� ��� ����&������ G ��� ���������� �&�	������ %&*����� ��
��� ���4

Δ = T 2 − 4c =
[
T − 2(1 − ω)2

][
T + 2(1 − ω)2

]
> 0, �����
4 5 �$$6⎧⎪⎨⎪⎩

T + 2(1 − ω)2 = (1 − ω)2(1 + ω2σ2
i ) + ω2σ2

i + (1 − ω + ω2σ2
i )

2 + 2(1 − ω)2 > 0,

T − 2(1 − ω)2 = ω2σ2
i

[
(2 − ω)2 + ω2σ2

i

]
> 0,

5 �$�6
�#�� ,��
���� �&������"�	� �� ��*&
�� i ∈ {1, 2, . . . , q}7 �"���� -��� σi �= 07 ��-
�����
&��� ��	&�,���� �	� � ��&��

 ��������	� ��� SOR ����� �� ��*����� (0, 2)�

����"�	�7 �� �&�-���� 5 �$�6 "
�� ��� ��&��*�	 �&�������"� &�,��4

ϑ1 = 1
2

[
T +

√
T 2 − 4c

]
∈ R

+

ϑ2 = 1
2

[
T −

√
T 2 − 4c

]
∈ R

+, �� ϑ1 > ϑ2 > 0.

5 �$=6



����� SOR ��� MSOR �	�����	����� ��������  �

%�&���&���� ����� �	� � ���*&���� ϑ1 := ϑ1(T ) ����� ��<���� ���*&���� ��� T 7
��- �� T := T (ω, σ2

i ) �������� ��<���� ���*&���� ��� σ2
i 7 �#��4

∂T
∂σ2

i
= ω2

[
(2 − ω)2 + 2ω2σ2

i

]
> 0,

∂2T
∂(σ2

i )2
= 2ω4 > 0,

5 �$�6

��� �*�� i ∈ {1, 2, . . . , q} ��� ��� �� ��
��� ω ∈ (0, 2)�

;)&�7 ���&���� �� ��
�&������� ��� � ���*&���� T ���������������7 ���� � ����8
9���
 σ2

i ���9*��� ��� �"����� ���
 ���7 �����
 "
���� ���4

T (β2) := T (ω; β2) = max
1≤i≤q

T (ω, σ2
i ). 5 �$06

����"�	�7 ���#	�� �� �� ��&��*�	7 ���<��� ��� � �
"�� 5 ��06 "
�� 	� �<
�4

‖Lω‖2
2 = max

{
1
2

[
T (β2) +

√
T 2(β2) − 4c

]
, (1 − ω)2

}

= 1
2

[
T (β2) +

√
T 2(β2) − 4c

]
,

5 �$/6

�����
 ������ ���&���� �� �������-����� ���4

1

2

[
T (β2) +

√
T 2(β2) − 4c

]
≥ (1 − ω)2. 5 ��(6

%�&����*,���� ������ �-&� �� �������� 2�-&���7 � ������<� ��� ������ ��� �����
*��� ��� ���� ��&��*�	 �������������

-����
� �+�+�+ "�� ��� ����	� A ∈ C
n,n ��� ��#���� �' '@! ������� �� ����	���$

min
ω∈(0,2)

‖Lω‖2
2 = min

ω∈(0,2)

1

2

[
T (β2) +

√
T 2(β2) − 4c

]
, 5 ���6


���

⎧⎨⎩
T (β2) = (1 − ω)2(1 + ω2β2) + ω2β2 + (1 − ω + ω2β2)2,

c = c(ω) = (1 − ω)4.
5 ���6

��

������� ��"�� �� �"�� �� ����&������ ������ �� ω̂ ∈ (0, 2), �� ����� ���
���������
�� ‖Lω‖2

2.
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(�/���� �+�+�+ 5 ���
 ��� ω∈(0, 2) � ����� ������������� ��� ‖Lω‖2
2� ����� � �����

��	
 ��������	
 ����	
 ��+� ��� �1��! ��� �������=������ �(�������$

f(ω) = (β2 + β6)ω4 + (1 − 4β4)ω3 + (−5 + 4β2 + 4β4)ω2+
+(8 − 8β2)ω − 4β2 − 4 = 0.

5 �� 6

7�� ���	�	���#�� ω̂ ∈ (0, ω∗)� 
��� ω∗$ � ������	
 ��������	
 ����	
 ��+� ��� �1��!
��� �����=������ �(�������$

g(ω) := (β2 + β4)ω3 − 3β2ω2 + (1 − 2β2)ω − 1. 5 ��$6

)�����<�� 59�"�� @�A7 2�-&��� ���7 �����/�8�/=6

��

(�������� #0

>���#����� ��� ei = −1 ��� �� ������ i ∈ {1, . . . , q} 

)
�� ���%���� ������ 
�� Ẽ = Iq 	�� N = −MH , ��� � ����	��$

A =

[
Ip −M

MH Iq

]
∈ C

n,n 5 ���6

����� ��	�	��	
� 	�� ������� ���������#��� 

B����*�� ������ �-&� ��������* ��� �� �����&� ���
 ��&���	��7 ����,����� ���
��� �&��������� 3�#*���� ���<��� ��� � ��������
� ��&��

 ��������	� ��� SOR
������� ��� ����� *��� ��� �� ��*����� (0, 2

1+α
)�

(�/���� �+�+�+ 2 ����������� Jacobi ����	��$

B =

[
O M

−MH O

]
∈ C

n,n, 5 ��=6

����� �������������
�� �� ����#����� 
��� �� �������#� ��� �� ����� 	����� %�������	��
������� 



����� SOR ��� MSOR �	�����	����� ��������  �

)�����<�� ;���	 ��
��� μ ∈ SB� ;�
���� ��������� ���4

∃x ∈ C \ {0}, �"���� -���4 Bx = μx

⇐⇒ (Bx)H = (μx)H ⇐⇒ xHBH = μ̄xH

⇐⇒ −xHB = μ̄xH , �����
 BH = −B 	� ����8�&��������

⇐⇒ −xHBx = μ̄xHx ⇐⇒ −xHBx = μ̄‖x‖2
2

⇐⇒ −μxHx = μ̄‖x‖2
2, �����
 Bx = μx

⇐⇒ −μ‖x‖2
2 = μ̄‖x‖2

2 ⇐⇒ −μ = μ̄, �#�� ‖x‖2 �= 0

⇐⇒ μ ∈ ıR.

5 ���6

��

"�
����� �+�+�+ E������� ������ ��
 �� �������� �� ������������� ����� =��=�
��� ����	
������ 
�� ��� �� ������ μ ∈ SB #����� $

−α2 ≤ μ2 ≤ 0, �� 0 ≤ α < +∞. 5 ��06

3��’ �������� �� ��� �&��������� ��&���	��7 ��&���&���� ��� � SOR �"�����
"
�� ������������ ������4

Lω =

[
(1 − ω)Ip ωM

−ω(1 − ω)MH −ω2MHM + (1 − ω)Iq

]
∈ C

n,n, 5 ��/6

��- �� �&�-���� 5 � �6 "
�� ��� ��&#
4

ϑ2 − Tϑ + c = 0, 5 �=(6

����

⎧⎨⎩
T = T (ω, σ2

i ) = (1 − ω)2(1 + ω2σ2
i ) + ω2σ2

i + (1 − ω − ω2σ2
i )

2,

c = c(ω) = (1 − ω)4.
5 �=�6

�� �&�-���� 5 �=(6 "
�� ����&������ Δ > 07 ����	� �� ��� �&��������� ��&���	��7
���* ��� ω ∈

(
0, 2

1+α

)
7 �� ���"���� �� ��&����*,�� ��� ��&��*�	 ��� �&�������"�

&�,��4

ϑ1 = 1
2

[
T +

√
T 2 − 4c

]
∈ R

+,

ϑ2 = 1
2

[
T −

√
T 2 − 4c

]
∈ R

+, �� ϑ1 > ϑ2 > 0.

5 �=�6



 0 ��������	�
��� ��� �
���
����� Norm ��� ����������

������ ���&���� �*�� �� �������-�����7 ��� � ���*&���� ϑ1 := ϑ1(T ) ����� ��<����
���*&���� ��� T 7 �� �� T := T (ω, σ2

i ) �� �������� ��<���� ���*&���� ��� σ2
i � �����

�����
 ��#"� ���4
T (α2) := T (ω; α2) = max

1≤i≤q
T (ω, σ2

i ). 5 �= 6

.���	� �-&� �� ��� �&��������� ��&���	��7 ���9*������ ��’ �:�� ���4

1

2

[
T (α2) +

√
T 2(α2) − 4c

]
≥ (1 − ω)2, 5 �=$6

� �
"�� 5 ��06 "
�� 	� �<
�4

‖Lω‖2
2 = max

{
1
2

[
T (α2) +

√
T 2(α2) − 4c

]
, (1 − ω)2

}

= 1
2

[
T (α2) +

√
T 2(α2) − 4c

]
.

5 �=�6

.����7 ����:�,���� �� �&��������� ���� �������� %&�����4

(�/���� �+�+�+ "�� ��� ����	� A ∈ C
n,n ��� ��#���� �' <<! ������ 
��$

min
ω∈(0, 2

1+α
)
‖Lω‖2

2 = min
ω∈(0, 2

1+α
)

1

2

[
T (α2) +

√
T 2(α2) − 4c

]
5 �==6


���

⎧⎨⎩
T (α2) = (1 − ω)2(1 + ω2α2) + ω2α2 + (1 − ω − ω2α2)2,

c = c(ω) = (1 − ω)4.
5 �=�6

��

)���"��� �"��� � ���
���������� ��� ��������� 1
2

[
T (α2) +

√
T 2(α2) − 4c

]
.

(�/���� �+�+�+ )� ω ∈ (0, 2
1+α

) �	����� ��� �� ����� ���������������� � ‖Lω‖2
2� �����

�� ω̂ = 1
1+α2 � �� 0 ≤ α < +∞ 

)�����<�� %�&���&���� ��� � �������� 1
2

[
T (α2) +

√
T 2(α2) − 4c

]
����� ��&��	8

������ 	� �&�� ω ��� (0, 2
1+α

) ��� "���7 ���#	�� �� �� �&��
&�� ��� �&-��� ��&��-���



����� SOR ��� MSOR �	�����	����� ��������  /

9�"����� ���4
d

dω

[
T +

√
T 2 − 4c

]
= 0

=⇒ dT
dω

√
T 2 − 4c − 2 dc

dω
+ T dT

dω
= 0

=⇒ T dT
dω

dc
dω

−
[

dc
dω

]2

− c
[

dT
dω

]2

= 0,

5 �=06

����

⎧⎪⎨⎪⎩
dT
dω

= 4
[
(α4 + α2)ω3 + ω − 1

]
,

dc
dω

= 4(ω − 1)3.

5 �=/6

)������������� ���� ��������� �
"�� ��� ��	��"� ��������� ��� "
���� ���������
��� ��&��*�	 �����&�9*���� �<��	�� 	� �&�� ω4

α2(α2 + 1)ω2 + ω − 1 = 0, 5 ��(6

���� �����
 "
�� ����&������ Δ = (1+2α2)2 > 07 ��&����*,�� ��� ��������� ��� &�,��4

ω = − 1
α2 ∈ R, ���&&������� �#�� �&"��� ω ∈

(
0, 2

1+α

)
,

ω = 1
α2+1

∈ R.

5 ���6

%�&���&���� ������ �	� � &�,� ω = 1
α2+1

�&�#��-� ��
��� ��� 
	&�� ��������	�
��� SOR7 ��� "��� �� 
&
�� ��� ������ ��� �����&�� ��&��-��� ���9�9��-����� �8
�� ��� ������ ���� ���	� ������
*����� � ���
���������� ��� ‖Lω‖27 ��	� ,���������

��
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���
	�� "

��	�	
����� ������� MSOR

"�� +�#������� ��� �������

2�	&���� �� �&������ �������4

Ax = b, 5$��6

���� A =

[
D1 H
K D2

]
∈ C

n,n ��� x, b ∈ C
n. 5$��6

.� ������� D1 ∈ C
p,p7 D2 ∈ C

q,q ����� ����-����7 ��- H ∈ C
p,q ��� K ∈ C

q,p� ������7
��
������ ��� p + q = n7 �� p ≥ q�

B� 
&
�� ��� ���
���� �����*��	� ��� ������ A4

A = D − L − U =

[
D1 O
O D2

]
−
[

O O
−K O

]
−
[
O −H
O O

]
, 5$� 6

�#�&��,���� �� ��	��
 SOR �"���� ��� ��&��*�	 �&������ �������4

x(k+1) = Lωx(k) + cω, ��� k = 0, 1, 2, . . . , 5$�$6

���� ��	&�,���� ���4

Lω = (D − ωL)−1
[
(1 − ω)D + ωU

]
∈ C

n,n,

cω = (D − ωL)−1ωb ∈ C
n.

5$��6

$�
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.����7 �� �&��������� ������������ �

�� "
�� 	� �<
�4

x(k+1) = (D − ωL)−1
[
(1 − ω)D + ωU

]
x(k) + (D − ωL)−1ωb

⇐⇒ (D − ωL)x(k+1) =
[
(1 − ω)D + ωU

]
x(k) + ωb.

5$�=6

)���������-���� �-&� ���� ��������� �
"�� ���� ��������
��� ������� �� ��� �����8
���
 ���� ��&#
7 9�"����� ���4[

D1 O
ωK D2

] [
x

(k+1)
1

x
(k+1)
2

]
=
[

(1 − ω)D1 −ωH
O (1 − ω)D2

][
x

(k)
1

x
(k)
2

]
+
[

ωb1

ωb2

]
�����

⇐⇒
[

D1x
(k+1)
1

ωKx
(k+1)
1 + D2x

(k+1)
2

]
=

[
(1 − ω)D1x

(k)
1 − ωHx

(k)
2 + ωb1

(1 − ω)D2x
(k)
2 + ωb2

]
. 5$�06

�<��-����� ��� �&���"� �	� ���*�	� ���-� ��� "��� ��������� "
���� �� ��������
�������4

D1x
(k+1)
1 = (1 − ω)D1x

(k)
1 − ωHx

(k)
2 + ωb1,

ωKx
(k+1)
1 + D2x

(k+1)
2 = (1 − ω)D2x

(k)
2 + ωb2.

5$�/6

%�&����*,���� ��� ������ ���� ��� �"� �����������
 �"����7 ��������� ��� ��	8
��
� SOR �������� %&*�����7 � �"����� ���
 �&������� �*� ���� ��� ���������� �<�8
�-���� 
&��������
����� ���#�&����"� ��&��"�&��� ω17 ω27 ��� �"�� ��� �������
�
�"
&� �����
� SOR8��&��"�&�� ω� %&�������� ���� �� ��&��*�	4

D1x
(k+1)
1 = (1 − ω1)D1x

(k)
1 − ω1Hx

(k)
2 + ω1b1,

ω2Kx
(k+1)
1 + D2x

(k+1)
2 = (1 − ω2)D2x

(k)
2 + ω2b2.

5$��(6

B� ���
� �� ����������� �	� ���������-� ���7 �"����� ���4⎧⎨⎩
F := −D−1

1 H,

G := −D−1
2 K

���

⎧⎨⎩
c1 := D−1

1 b1,

c2 := D−1
2 b2,

5$���6

�����7 ��������� �� �<��-���� ��� ����
����� 5$��(6 "
��� 	� �<
�4

x
(k+1)
1 = ω1(Fx

(k)
2 + c1) + (1 − ω1)x

(k)
1 ,

x
(k+1)
2 = ω2(Gx

(k+1)
1 + c2) + (1 − ω2)x

(k)
2 .

5$���6
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G������-����� ������7 ��� �� ��� ��&��*�	 ���������� ��������*���� ��� �"�
�����������
 �"����7 ��� ������ � SOR ���	� �������� �����
 ��&���	��7 ���� ���
� �"� �"����� 
&���������� ��� ��&��"�&��� ��� �� ��"�
�� ��� ��
����� �� ���
����� ���������� ! �"� ���
 �"����� ����*,���� Modified Successive Over-Relaxation
�MSOR! �#����� ��� "
�� ������������ �

��4

x(k+1) = Lω1,ω2x
(k) + cω1,ω2 , ��� k = 0, 1, 2, . . . , 5$�� 6

���� Lω1,ω2 =

[
(1 − ω1)Ip ω1F

ω2(1 − ω1)G ω1ω2GF + (1 − ω2)Iq

]
∈ C

n,n 5$��$6

��� cω1,ω2 =

[
ω1c1

ω1ω2Gc1 + ω2c2

]
∈ C

n. 5$���6

"�
����� �+�+�+ 8��	��� �������� �� �������������� 
�� ��� ��� ����������	

����	� Lω1,ω2 ��� MSOR ���
��� ������ 
��$

Lω1,ω2 = L0,ω2Lω1,0 	�� Lω,ω = Lω, 5$��=6

	��� �� ����� 
��� ������
����� �(������ ��� ����� ��� �����	������ �� ��� ����� 	����
�	������� �� �#���� ���
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B����*�� �-&� ��� ��&��"�&��� ������� ��� ���&�*,��� ���* ��� �<��#���,��� ��
�������� ��� �"�� ���
� �������� %&*�����7 ��	� ��� ���� ��&���	�� ��� SOR ���
�����
���� ��� 3�#*���� �7 ����� ��#"� �	� 
&
���� �&������ ���� �&���*���* ���
���
 ����� �� ��������4

�6 ! �
"�� ��� Young 5��������"�� ��&#
6�
96 Supremum #�������
� ������� ��� ������ Lω1,ω2 �

�6 2�	&�� ����	���	� Schur�
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!���� � ����� 	
� Young

;.�	� �&�#��-� ���:��,������7 � ���������
 ���
 �
"�� �������� ��� ���������
��� 
�� ��	��
� �
"��	� ��� Young7 ��� ������
���� �� �&��������� 3�#*����7
�� ������� ��#-� �������&�� %�&����*,���� �� �������� 2�-&���4

-����
� �+�+�+ 8���� ����	�� A ∈ C
n,n ��� ���%
� (4.2)� ��� Lω1,ω2 	�� B ��

����������� MSOR 	�� Jacobi ����	�� )
��$
�! ��� μ ∈ σ(B) 	�� ������� λ �= 0 ��� �	�������� �� ��#��$

(λ + ω1 − 1)(λ + ω2 − 1) = ω1ω2μ
2λ, �
�� λ ∈ σ(Lω1,ω2). 5$���6

=! ��� λ ∈ σ(Lω1,ω2)\{0}� �
�� ������� μ ∈ σ(B) �#���� ���� �� ������ � �����������
��#�� 

)�����<�� 59�"�� @� A7 ������ 8��$6

"�
����� �+�+�+ ����� ���%��#� 
�� �� ��� ��#�� ���
 ����������
����� ��� �����
�����#����� ω1 = ω2 = ω� ����������� ��� ��#�� ��� Young$

(λ + ω − 1)2 = ω2μ2λ, 5$��06

��� ������ ��� D�%����� 3 
� 

!���� Supremum �
��
	���� 
�	��
� 	
� Lω1,ω2

.���	� �� ��� ��&���	�� ��� SOR7 ������� ��� ��&��*�	 �&����4

.�	�
/� �+�+�+ 5 MSOR �#����� ���	����� ������ ���� ������ 
��$

ρsup(Lω1,ω2) < 1, 5$��/6


��� ρsup(Lω1,ω2) := max
μ∈SB

ψ(μ), 5$��(6


��� ψ(μ) := max
{∣∣λ(μ)

1

∣∣ , ∣∣λ(μ)
2

∣∣}, 5$���6

��� �� ������ μ ∈ SB� �� ��
�� ��� ��#���� ��� Young 

%&"��� �� ��&���&
����� ��� ������ ����7 ��� � ������&��"��� �&����� ��� ��&"8

�� �� ���������� �� �����
����� "�� ����
"� �&�9����7 ���� ��� �����"� ��&���-����
��&�"
�� ��� ������ �� �&�9�
����7 ���� �� ����&��� ������ σ(B) ����� ��������� ���
SB� 2���,���� �	� ��&�9-� ��� ���� ���������� 
&��������
���� ��� ���� ��&���	��
��� SOR �������7 �&������"�	��

��
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!���� ����
�� ���������� 	�� MSOR ��"#�
�

G���"����� �-&� �� ���*����� �&������7 ��� �� 9&���� ��� �������� ��� ����

����
�� 	� �&�� ��� ��&��"�&��� ω17 ω27 -��� � MSOR �"����� �� ��������� ��
�&*�
G����
7 "
���� ��"�� �� ���������� �� �&�����&������ ��� ������
 ���	������ ���
������&��"��� �������� G���&������ ����"�	� ��� ��&��*�	 ��� ��&���-����7 ��	�
��� 3�#*���� �7 ��� ������ ��� �<��*,���� ��������*4

(�������� �0

>���#����� 
�� ��� ��� ����	�$

A =

[
D1 H
K D2

]
∈ C

n,n 5$���6

�����+���� 
�� � ����������� Jacobi ����	�� B #��� ������ ��������	#� �������#�� ��
SB ⊂ (−1, 1) 8������ �����
 ��� �� ������ μ ∈ SB ��� ������ 
��$

0 ≤ μ2 ≤ β2, �� 0 ≤ β < 1. 5$�� 6

! ����&��
 ��� �&�� ������<� %&�����7 ��� ������&��"��� ��&���-��	�7 ��������
��������� ��� ��������
�� ��&���-��	� ��� SOR �������7 ��� ��� ����� *��� ��� ���
��������4

(�/���� �+�+�+ 5 MSOR �#����� ���	����� ������ ���� (ω1, ω2) ∈ (0, 2) × (0, 2).

)�����<�� C�� λ ∈ σ(Lω1,ω2) ��� μ ∈ SB 
&��������-���� �� �
"�� ��� Young7
��� �&������"�	� ��&����*����7 9�"����� ���4

(λ + ω1 − 1)(λ + ω2 − 1) = ω1ω2μ
2λ 5$��$6

⇐⇒ λ2 − bλ + c = 0, 5$���6

����

⎧⎨⎩
b := b(ω1, ω2, μ) = 2 − ω1 − ω2 + ω1ω2μ

2,

c := c(ω1, ω2) = (1 − ω1)(1 − ω2).
5$��=6

H���"����� �	� � MSOR ��������� ��
�&*� ;�
���� ����"�	� ���4

ρsup(Lω1,ω2) < 1 5$���6

⇐⇒
∣∣λ∣∣ < 1, ��� �� ��
��� λ ∈ σ(Lω1,ω2). 5$��06
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! 2�	&�� �	� ����	���	� Schur7 ��� ������<��� ��� 3�#*���� �7 ��&"
�� ��� ���8
&������ 9�
���� ��� ��� ������ ����J ;�
���� �����
 ��������� ���4∣∣b∣∣ < 1 + c ���

∣∣c∣∣ < 1. 5$��/6

�<��*,���� �&
��* �� �����&� ��� ��� ���������� ���"�7 �������-������ ���4

∣∣c∣∣ < 1 ⇐⇒

⎧⎨⎩
ω1ω2 − ω1 − ω2 + 2 > 0,

ω1ω2 − ω1 − ω2 < 0.
5$� (6

�� �����&�#��"�� 
	&�� ��� �

�� C;��7 ��� ��&��"����� ��� %�&*&���� C; ���
�&������ ���
�7 ��&����*,�� ��� ������ �	� ������&��"�	� ������
�	��

.���	�7 � ���"�� ��� �&-��� ���������� ����� ���4

∣∣b∣∣ < 1 + c ⇐⇒

⎧⎨⎩
4 − 2ω1 − 2ω2 + ω1ω2 + μ2ω1ω2 > 0,

(1 − μ2)ω1ω2 > 0,
5$� �6

⇐⇒

⎧⎨⎩
4 − 2ω1 − 2ω2 + ω1ω2 + μ2ω1ω2 > 0,

ω1ω2 > 0,
5$� �6

���9*������ ��’ �:�� ��� 1 − μ2 > 07 �#�� ��	&�,���� �	� ��� �� ��
��� μ ∈ SB7
��
��� ��� μ ∈ (−1, 1)�

G��<��� �����
 �"
&� �����
�7 ��� � �"����� ��������� ��
�&*7 �� �<��#��������
��� �� ��&*���&�� ω1, ω2 ����� �������� 59�"�� �� �

�� C;� ��� %�&�&�
����� C;67
��- �����
&��� ��
��� � �������� �
"�� ��� �� ��
��� μ ∈ SB4

μ2 > −(2 − ω1)(2 − ω2)

ω1ω2

. 5$�  6

)&��� ������ �� �<��#�������� ��� ��
� ��� ��� ��� ��*
���� ���
 ��� μ27 ���-�
μ ∈ SB� '�"����� ���� ���4

minμ∈SB
μ2 > − (2−ω1)(2−ω2)

ω1ω2

⇐⇒ 0 > − (2−ω1)(2−ω2)
ω1ω2

⇐⇒ (2 − ω1)(2 − ω2) > 0.

5$� $6
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.����7 �� �����&�#��"�� ������� ���&*�	�� (0, 2) × (0, 2)7 ��� ��&����*,���� ���
�

�� C;�$ ��� %�&�&�
����� C;7 �������� ��� ������&��"�� ��&���	�� ��� ��&��


��������	� ��� MSOR ��������

�����-����� �	� � ��
�� ��� ������&�#�� ����������	� �<��#���,���� ��� ���
�����������7 ��� �"
&� �����
� 
&��������
���� ���� ��&��*�	 �����������

��

�<��*,���� ��������* ��� �� �����&� ��&���	���

(�������� #0

8���� 
�� � Jacobi ����	�� B #��� ������ %�������	#� �������#�� �����
 #����� 
�
�� SB ⊂ iR 	�� #��� ��� �� ������ μ ∈ SB ������$

−α2 ≤ μ2 ≤ 0, �� 0 ≤ α < +∞. 5$� �6

! %&����� �-&�7 ��� ��&����*,�� �� ,�������� ��&��

 ��������	� ��� MSOR
������� ����� � ��������4

(�/���� �+�+�+ 5 MSOR ����� ������ ���	������� ���� (ω1, ω2) ∈ D� 
���$

D :=

{
(ω1, ω2) ∈ R

2 : 0 < ω1 < 2 	�� 0 < ω2 <
4 − 2ω1

2 − (1 − α2)ω1

}
. 5$� =6

)�����<�� .���	� �� �&��7 
&������������ �� �
"�� ��� Young4

λ2 − bλ + c = 0, 5$� �6

��

⎧⎨⎩
b := b(ω1, ω2, μ) = 2 − ω1 − ω2 + ω1ω2μ

2,

c := c(ω1, ω2) = (1 − ω1)(1 − ω2).
5$� 06

H���"����� ��� � MSOR ��������� ��
�&*� ����4

ρsup(Lω1,ω2) < 1 5$� /6

⇐⇒
∣∣λ∣∣ < 1, ��� �� ��
��� λ ∈ σ(Lω1,ω2). 5$�$(6

.����7 
&��������-���� �� 2�	&�� �	� ����	���	� Schur7 9�"����� ��� ���������
��
���� �� ��&��*�	4 ∣∣b∣∣ < 1 + c ���

∣∣c∣∣ < 1, 5$�$�6
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����
∣∣c∣∣ < 1 ⇐⇒

⎧⎨⎩
ω1ω2 − ω1 − ω2 + 2 > 0

ω1ω2 − ω1 − ω2 < 0.
5$�$�6

.���	� �� ��� �&��������� ��&���	��7 �&�,���� �� �����&�#��"�� 
	&�� ��� �

8
����� C;�� 59�"�� %�&*&���� C;67 ��- ��� �� ���"�� ��� �&-��� ���������� 9�"�����
���4 ∣∣b∣∣ < 1 + c ⇐⇒

⎧⎨⎩
(2 − ω1)(2 − ω2) + μ2ω1ω2 > 0,

(1 − μ2)ω1ω2 > 0.
5$�$ 6

%�&���&���� �-&�7 �	� �����
 ��� �� ��
��� μ ∈ SB ��
��� ��� 1 − μ2 > 07 "
����
���4

ω1ω2 > 0 ⇐⇒ ω1, ω2 : �������� 59�"�� �

�� C;� 6. 5$�$$6

)���"��� ������ � ���"�� ��� ��������� ����������4

(2 − ω1)(2 − ω2) + μ2ω1ω2 > 0

⇐⇒ μ2 > − (2−ω1)(2−ω2)
ω1ω2

.
5$�$�6

C�� �� ��
��� � ��������� �
"�� ��� �� ��
��� μ ∈ SB7 �&��� �� �<��#�������� ���
��
��� ��� �� minμ∈SB

μ2 = −α2� ;)&�7 9�"����� ���4

−α2 > − (2−ω1)(2−ω2)
ω1ω2

⇐⇒ (2−ω1)(2−ω2)
ω1ω2

> α2 ≥ 0.

5$�$=6

G���&������ �-&� ��� �����&���-����7 ���� � �&-�� �< ���-�4

2 − ω1 < 0 ⇐⇒ ω1 > 2

��� 2 − ω2 < 0 ⇐⇒ ω2 > 2,
5$�$�6

���&&�������7 �<������ �	� �"
&� �����
� ��&��&���-�7 ��	� ����� ��&����*,����� ���
�

�� C;� � ;)&�7 �<��*,���� ��� �����&���	�� ����4

2 − ω1 > 0 ⇐⇒ ω1 < 2

��� 2 − ω2 > 0 ⇐⇒ ω2 < 2.
5$�$06
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���#	�� ������ �� ���� ����������� ��&��&������7 9�"����� ���4

(2−ω1)(2−ω2)
ω1ω2

> α2

⇐⇒ 4 − 2ω1 − 2ω2 + ω1ω2 − α2ω1ω2 > 0

⇐⇒
[
2 − (1 − α2)ω1

]
ω2 < 4 − 2ω1.

5$�$/6

%�&���&���� ��� � �������� 2 − (1 − α2)ω1 ����� �*����� �����
7 ���9*������ ��’
�:�� ��� 0 ≤ α < +∞ ��� ω1 > 07 �<������ #����* ��� �

����� C;� �

����"�	�7 ���&���� �� ��
�&������� �	� � ,�������� ��&��

 ��������	� ��� MSOR
������� �&�,���� ���� ��&���	�� ���
7 ��� ��� ������� �	� ��&��*�	 ������
�	�4

0 < ω1 < 2 ��� 0 < ω2 <
4 − 2ω1

2 − (1 − α2)ω1

. 5$��(6
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 ��� 
	&��� �����7 ����&������� �*����� ��&�8
��-���� ��*���� �� ��� ���
 ��� ���9*��� �� α ∈ [0, +∞)� %&*�����7 �� ��&���-����
���"� ��&����*,����� ��������* ��� �

���� C;��7 C;�= ��� C;�� ��� %�&�&�
����� C;�

�"���7 �����
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7 �&�#��-� ��
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��� � ������&�#� �����������

��

"��  !������ MSOR �!�����

�� �&���"��� ��&���-���� ��������-� ��� �����-� ���������"�	� ���*�	� A ∈ C
n,n

"
���� �� ���������� �� �&�����&������ ����&�9-� �� =#������ MSOR �#����� B��8
&���� �����
 �� �&�����&������ ��� ���*������ MSOR8��&��"�&��� ω17 ω2 �����
#����* ��� ��&��

� ��������	� ��� �������7 -��� � �"�� ������	���
 ��
�����
��������-� ��� �� ���������������� %�&����*,���� ������ ��� ���"
���7 �� ���"��
�	� �&��������	� ��� ��&���-��	�7 ���� ��� �� ���"� "
���� 
�� �&�����&���� ���
��������
�� ��&��
"� ��������	� ��� ��������

%&*�����7 �<��*,���� �&
��* ��� �&-�� ��&���	��7 ���� ��	� ������ ���� �	&�8
��&�7 � Jacobi ������� B ��&����*,�� ���*
� �&�������"� �������"� �� SB ⊂ (−1, 1)�
����7 ��� ��� Young "
���� ��� �������� %&�����4

(�/���� �+�+�+ 82��� ��� ��� ����	� A ∈ C
n,n ������� �� ���A���#���� ��� ��������

%����� ���� 7�������� �8 ��� ������������ 7������%��� ������ 
��$

ρsup(Lωb,ωb
) = ρ(Lωb,ωb

) = ρ(Lωb
) = ωb − 1, 5$���6
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	�� ��� 	��� (ω1, ω2) ∈ (0, 2) × (0, 2) \ {(ωb, ωb)} =�#����� ��� ������ 
��$

ρsup(Lω1,ω2) > ρsup(Lωb,ωb
) = ωb − 1. 5$���6

)�����<�� . Young ��� 9�9��� ��� Iterative Solution of Large Linear Systems
��&����*,�� ��������* �� ������&��"�� ������<� ���� ������� ��/8�0�� 3���&����
*<���� ���
� ��� ������<�	� ����� �� �������� ��������� ?
���7 �� ����� ������
��&����*,���� ��������* ��� ������ �0= ��� 9�9���� ������

,�

� �+�+�+ *������� �� ����	��� ��������$

x2 − b1x + c = 0,
x2 − b2x + c = 0.

5$�� 6

)
��� ρ(b1, c) ≥ ρ(b2, c) ����
∣∣b1

∣∣ ≥ ∣∣b2

∣∣ ������ �� b2
2 − 4c ≥ 0 	��

∣∣b1

∣∣ >
∣∣b2

∣∣ #�����

�� ρ(b1, c) > ρ(b2, c) >�’ 
4�� ��� ρ(bi, c)� �� i = 1, 2� ����� �� ���������� ��
 ��
�#��� ��� ��+�� ��� ����������� ��������� 

� 

�<��*,���� �-&� ���’ �������� ��� �� �����&� ��&���	��7 
&��������-���� ���
��&��*�	 %&������

(�/���� �+�+�+ :��%��� �� ��� ���A���#���� ��� �������%����� ���� 7�������� =8
��� ������������ 7������%��� =�#����� 
�� 
��� � Jacobi ����	�� B #��� ������
%�������	#� �������#�� ������� �� �(
�$

ρsup(Lω1,ω2) ≥ ρsup(Lωb,ωb
) = ρ(Lωb,ωb

) = ρ(Lωb
), 5$��$6

��� 	��� (ω1, ω2) ∈ D :=

{
(ω1, ω2) ∈ R

2 : 0 < ω1 < 2 	�� 0 < ω2 < 4−2ω1

2−(1−α2)ω1

}
 

)�����<�� ������ �	� �� �������"� μ ∈ SB ��� λ ∈ σ(Lω1,ω2) ����"����� ����<�
���� �"�	 ��� �
"��	�4

(λ + ω1 − 1)(λ + ω2 − 1) = ω1ω2μ
2λ 5$���6

⇐⇒ λ2 − bλ + c = 0, 5$��=6

��

⎧⎨⎩
b := b(ω1, ω2, μ) = 2 − ω1 − ω2 + ω1ω2μ

2 = 1 + c − ω1ω2(1 − μ2),

c := c(ω1, ω2) = (1 − ω1)(1 − ω2).
5$���6

����"����� �� 
&��������
����� λ ∈ σ(Lω1,ω2)7 �"���� -���
∣∣λ∣∣ = ρsup(Lω1,ω2)�



����� SOR ��� MSOR �	�����	����� �������� ��

.����7 "
����� 	� 9*�� �� �&�-���� 5$��=6 ��� ���9*������ ��’ �:�� �� ?
��� $� ��7
��������*,���� "�� �"� �&�-����4

λ2 − b̃λ + c = 0, 5$��06

���� b̃ = maxμ∈SB

∣∣b(μ)
∣∣ = maxμ∈SB

∣∣1 + c − ω1ω2(1 − μ2)
∣∣

= max
{∣∣1 + c − ω1ω2

∣∣, ∣∣1 + c − ω1ω2(1 + α2)
∣∣}.

5$��/6

�<��*,���� ��������* ��� ��� ���"� ��&���-�����
H���"����� �&
��* �	�4∣∣1 + c − ω1ω2

∣∣ ≤ ∣∣1 + c − ω1ω2(1 + α2)
∣∣

⇐⇒
∣∣1 + c − ω1ω2

∣∣− ∣∣1 + c − ω1ω2(1 + α2)
∣∣ ≤ 0

⇐⇒
[
1 + c − ω1ω2

]2

−
[
1 + c − ω1ω2(1 + α2)

]2

≤ 0

⇐⇒ ω1ω2α
2
[
2 + 2c − ω1ω2(2 + α2)

]
≤ 0

⇐⇒ ω1ω2 ≥ 2(1+c)
2+α2 , �#�� (ω1, ω2) ∈ D.

5$�=(6

������ �������-����� ���4

−ω1ω2(1 + α2) ≤ −2(1+c)(1+α2)
2+α2

⇐⇒ 1 + c − ω1ω2(1 + α2) ≤ 1 + c − 2(1+c)(1+α2)
2+α2

⇐⇒ 1 + c − ω1ω2(1 + α2) ≤ −α2(1+c)
2+α2

⇐⇒
∣∣∣1 + c − ω1ω2(1 + α2)

∣∣∣ ≥ α2(1+c)
2+α2 .

5$�=�6

.���	�7 ���� ��&���	�� ����4∣∣1 + c − ω1ω2

∣∣ ≥ ∣∣1 + c − ω1ω2(1 + α2)
∣∣

⇐⇒
∣∣1 + c − ω1ω2

∣∣− ∣∣1 + c − ω1ω2(1 + α2)
∣∣ ≥ 0

⇐⇒
[
1 + c − ω1ω2

]2

−
[
1 + c − ω1ω2(1 + α2)

]2

≥ 0

⇐⇒ ω1ω2 ≤ 2(1+c)
2+α2 , �����
 (ω1, ω2) ∈ D,

5$�=�6



�� ��������	�
��� ��� �
���
����� Norm ��� ����������

���&���� 
	&�� �������� �� �������-����� ���4

−ω1ω2 ≥ −2(1+c)
2+α2

⇐⇒ 1 + c − ω1ω2 ≥ 1 + c − 2(1+c)
2+α2

⇐⇒ 1 + c − ω1ω2 ≥ α2(1+c)
2+α2

⇐⇒
∣∣∣1 + c − ω1ω2

∣∣∣ ≥ α2(1+c)
2+α2 .

5$�= 6

G��<��� �����
 �	� �� �*�� ��&���	�� ��
��� ���4

b̃ ≥ α2(1 + c)

2 + α2
=

2r(1 + c)

1 + r2
≥ 0, 5$�=$6

���9*������ ��’ �:�� �	� ��
��� ���4

r := ρ(Lωb
) = 1 − ωb,

ωb = 2
1+

√
1+α2 ⇐⇒ α2 = 4(1−ωb)

ω2
b

= 4r
(1−r)2

.
5$�=�6

"�
����� �+�+�+ *���+���� 
�� �� ���������� ���#� ��#���� ��������� ����	#� �����
������� ��� ��#���� �3 ./! 	�� �3 01!� ��� ������(��� ��� D�%����� 3 

���#	�� �-&� �� �� ?
��� $� ��7 ����� ��#"� ���4

ρsup(Lω1,ω2) = ρ(b̃, c) ≥ ρ(c), 5$�==6

���� ρ(c) ����� �� ��������&� ��� �� �"�&� �	� &�,-� ��� �&�	�����4

P(λ, c) := λ2 − 2r(1 + c)

1 + r2
λ + c = 0. 5$�=�6

�*� �-&� ����"<���� �� 
&��������
����� ��� �"�� ��� c ��� �������� c0 := r27
���&���� �� ����� �	� �&������� ���4

ρ(c) > ρ(c0) = r = 1 − ωb, ��� �*�� c �= c0. 5$�=06

)������������ ��� ��
�&���� �����

)� c > c0 ���� ρ(c) ≥ c
1
2 > c

1
2
0 = r = ρ(c0)�

)� c < c0 ���� P(r, c) < 0 ��� P(λ, c) > 0 ��� �*����� ���"� ��� λ > r� .����7
��� �� 2�-&��� Bolzano ��	&�,���� �	� ��� ��� �&�������"� &�,�� r1 ��� r2 ���



����� SOR ��� MSOR �	�����	����� �������� � 

�&�	����� 5$�=�6 ��
��� ��� 0 ≤ r < r1 ≤ r2 < λ� G����
7 ��������� 9�"����� ���
r = ρ(c0) < ρ(c) = r2�

G���&������ �"��� ��� ��&��*�	 ��&���-����4
;���	 �	� α = 0 ⇐⇒ r = 0 ⇐⇒ ωb = 1� ����4

ρsup(Lω1,ω2) ≥ ρsup(Lωb,ωb
) = ρ(Lωb,ωb

) = ρ(Lωb
) = 1 − ωb = 0. 5$�=/6

�*� �*�� ��
����� ��� α > 0 ��� ���* ���"���� r > 07 ���&���� �� ����� �	� ��
�<��&��� ��� ��&���	�� ���� ω1ω2 = (1 − r)27 ��
��� ���4

b̃ > 2r. 5$��(6

%&*�����7 "��	 �	� ω1ω2 > (1 − r)2� ����4

1 + α2 = 1 +
4r

(1 − r)2
=

(1 + r)2

(1 − r)2
, 5$���6

��� "���4
1 + c0 − ω1ω2(1 + α2) = 1 + c0 − ω1ω2

(1+r)2

(1−r)2
< −2r

⇐⇒
∣∣1 + c0 − ω1ω2(1 + α2)

∣∣ > 2r ⇐⇒ b̃ > 2r.

5$���6

.���	�7 ���� ω1ω2 < (1 − r)2 9�"����� ���4

1 + c0 − ω1ω2 > 1 + c0 − (1 − r)2 = 2r

⇐⇒
∣∣1 + c0ω1ω2

∣∣ > 2r ⇐⇒ b̃ > 2r.
5$�� 6

���� ��&���	�� �� ���� ω1ω2 = (1 − r)27 ������ 9�"����� ���4

ω1 = ω2 = 1 − r = ωb, 5$��$6

�� ����"����� �� ��
��� ��� b̃ = 2r�

����"�	�7 
&��������-���� ����� ��� #�&* �� ?
��� $� �� ��� �� �&�-����4

λ2 − b̃λ + c0 = 0,

λ2 − 2rλ + c0 = 0,
5$���6

���9�9��-����� �� ,���������
��
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���
	�� #

���
�����	 norm ��� Lω1,ω2

,�� %�&���� '���(���)� ���)� ��� *#���)���� *�
���������

2�	&���� �� ��������� ��� �����-� ���������"�� ������ A ∈ C
n,n7 ����4

A =

[
Ip −M

−N Iq

]
, �� p + q = n ��� p ≥ q. 5���6

>&��������-���� �� 2�-&��� )�*����� +���,���-� ���-� ��� ��� ������ M ∈ C
p,q7

���&���� �� �������-����� �� ��&��*�	4

M = UΣV H , 5���6

���� U, V 4 �&������������ ������� ��4

UUH = Ip,
V V H = Iq,

5�� 6

���� Σ ����� � ������� ��� ��&�"
�� ��� ���������"��� ���* #������� ���&* ���*,�����
���"� σii7 ��� i = 1, 2, . . . , q7 ��� ������ M 7

�� Σ =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

σ11 0 · · · 0
0 σ22 · · · 0
���

���
� � �

���
0 0 · · · σqq

0 0 · · · 0
���

���
� � �

���
0 0 · · · 0

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
∈ R

p,q. 5��$6

��



�= ��������	�
��� ��� �
���
����� Norm ��� ����������

%&"��� ��� ������ ���� �� ���������7 ��� ��� �� ���#������ �� ���"�� ���&���"8
�	� ��&���-��	�7 ��
������ ��� σ11 ≥ σ22 ≥ . . . ≥ σqq > 07 ��- �����
&��� �� ���
�
��� ���������� �	� ���9�����-� �"����� σi := σii7 ��� �*�� i ∈ {1, 2, . . . , q}�

2�	&���� ������ ��� � ������� N ∈ C
q,p "
�� ��� �������� ��&#
4

N = EMH = (V ẼV H)MH , 5���6

���� Ẽ =

⎡⎢⎢⎢⎣
e1 0 · · · 0
0 e2 · · · 0
���

���
� � �

���
0 0 · · · eq

⎤⎥⎥⎥⎦ ∈ R
q,q, ��

⎧⎨⎩
ei = +1, ∀i ∈ {1, 2, . . . , q}



ei = −1, ∀i ∈ {1, 2, . . . , q},
5��=6

�� ���
� ��&�9-� �� ���"����� ��������
 ���"�� �	� ��&���-��	�7 ��� ��� �&��#"&��
� ������
 ���
�

. Jacobi ������������� ������� B7 ��� ��������
�� ��� ������&��"�� ������
 ���
������ A ����� � �<
�4

B =

[
O M
N O

]
∈ C

n,n, 5���6

��- �� �&��������� %�&*�&�#� ���<��� �	� ��� �� ��
��� μ ∈ SB ��
��� ���4

μ2 = eiσ
2
i , ��� �*���� i ∈ {1, 2, . . . , q}, 5��06

�
"�� ��� ����� �� 
&��������
����� ��� ����� ��&��*�	 �������������

����
�,���� �-&� �� ���"�� ��� MSOR ������� ���’ �������� �� ��� SOR �"8
����7 ��� ������ ��� 3�#*����  � %&*�����7 "
���� ��� � ������������� ������� ���
MSOR "
�� �� ��&#
4

Lω1,ω2 =

[
(1 − ω1)Ip ω1M

ω2(1 − ω1)N (1 − ω2)Iq + ω1ω2NM

]
∈ C

n,n 5��/6

=

[
(1 − ω1)Ip ω1U�V H

ω2(1 − ω1)V Ẽ�HUH (1 − ω2)Iq + ω1ω2V ẼΣHΣV H

]
, 5���(6

���9*������ #����* ��’ �:�� ���4

N = EMH = (V ẼV H)(V ΣHUH) = V ẼΣHUH ,

NM = (V ẼΣHUH)(UΣV H) = V ẼΣHΣV H .

5����6



����� SOR ��� MSOR �	�����	����� �������� ��

%�&���&���� �-&� ���4

Lω1,ω2 =

[
U O
O V

] [
(1 − ω1)Ip ω1Σ

ω2(1 − ω1)ẼΣH (1 − ω2)Iq + ω1ω2ẼΣHΣ

] [
UH O
O V H

]
5����6

��� "��� �"������4

Q :=

[
U O
O V

]
∈ C

n,n 5��� 6

��� Γω1,ω2 :=

[
(1 − ω1)Ip ω1Σ

ω2(1 − ω1)ẼΣH (1 − ω2)Iq + ω1ω2ẼΣHΣ

]
∈ R

n,n, 5���$6

��������� ����������� ��� �
"��4

Lω1,ω2 = QΓω1,ω2Q
H . 5����6

>&������������ <��*7 ��	� ��� ���� ��&���	�� ��� SOR �������7 ���*����� ����8
������ ������ P ∈ R

n,n 59�"�� %�&*&���� ';67 �"���� -���4

Δ(ω1, ω2) = PΓω1,ω2P
T =

=

⎡⎢⎢⎢⎢⎢⎣
Δ1(ω1, ω2) O · · · O O

O Δ2(ω1, ω2) · · · O O
���

���
� � �

���
���

O O · · · Δq(ω1, ω2) O
O O · · · O (1 − ω1)Ip−q

⎤⎥⎥⎥⎥⎥⎦ ∈ R
n,n,

5���=6

���� ��� �� ��
��� i ∈ {1, 2, . . . , q} "
���� ���4

Δi(ω1, ω2) =

[
1 − ω1 ω1σi

ω2eiσi − ω1ω2eiσi 1 − ω2 + ω1ω2eiσ
2
i

]
∈ R

2,2. 5����6

����"�	�7 ���<��� �"
&� �����
� ���4

Lω1,ω2 = QP T Δ(ω1, ω2)PQH ��� 5���06

LH
ω1,ω2

Lω1,ω2 = QP T ΔH(ω1, ω2)Δ(ω1, ω2)PQH , 5���/6

���9*������ ��	� ��’ �:�� ��� (PQH)−1 = QP T �
��



�0 ��������	�
��� ��� �
���
����� Norm ��� ����������

,�
 �������������� ��� ‖Lω1,ω2‖2

K�������� ���� ��&���� %�&*�&�#� ����� � ���
���������� ��� ���������4

‖Lω1,ω2‖2
2 = ρ

(
LH

ω1,ω2
Lω1,ω2

)
= ρ

(
ΔH(ω1, ω2)Δ(ω1, ω2)

)
= max

{
max1≤i≤q ρ

(
ΔH

i (ω1, ω2)Δi(ω1, ω2)
)
, (1 − ω1)

2

}

= max

{
max1≤i≤q ‖Δi(ω1, ω2)‖2

2, (1 − ω1)
2

}
,

5���(6

���� ��� �� ��
��� i ∈ {1, 2, . . . , q} "
���� ���4

ΔH
i (ω1, ω2)Δi(ω1, ω2) =

=

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 − 2ω1 + ω2
1 + ω2

2e
2
i σ

2
i + ω1σi − ω2

1σi + ω2eiσi − ω2
2eiσi+

−2ω1ω
2
2e

2
i σ

2
i + ω2

1ω
2
2e

2
i σ

2
i +ω1ω

2
2e

2
i σ

3
i − ω1ω2eiσi+

+ω1ω
2
2eiσi − ω2

1ω
2
2e

2
i σ

3
i

ω1σi − ω2
1σi + ω2eiσi − ω2

2eiσi+ ω2
1σ

2
i + 1 + ω2

2 + ω2
1ω

2
2e

2
i σ

4
i +

+ω1ω
2
2e

2
i σ

3
i − ω1ω2eiσi+ −2ω2 + 2ω1ω2eiσ

2
i − 2ω1ω

2
2eiσ

2
i

+ω1ω
2
2eiσi − ω2

1ω
2
2e

2
i σ

3
i

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎦
,

5����6

���9*������ ��’ �:�� #����*7 ��� �� MSOR8��&*���&�� ω1, ω2 9&�������� �"�� �� �*8
���� ������&��"�� 
	&��7 ��	� ���� �&������ ��� �&��������� 3�#*�����

;����7 �� ϑ := ϑ(i) ∈ C7 ��� �*���� i ∈ {1, 2, . . . , q}7 ����� ��
��� �������
 ��� ��8
���� ΔH

i (ω1, ω2)Δi(ω1, ω2)7 "
���� ���4

ϑ ∈ σ
(
ΔH

i (ω1, ω2)Δi(ω1, ω2)
)

5����6

⇐⇒ det
(
ΔH

i (ω1, ω2)Δi(ω1, ω2) − ϑI
)

= 0 5��� 6

⇐⇒ ϑ2 − Tϑ + c = 0, 5���$6

��

⎧⎨⎩
T := T (ω1, ω2, ei, σ

2
i ) = (1 − ω1)

2(1 + ω2
2σ

2
i ) + ω2

1σ
2
i + (1 − ω2 + ω1ω2eiσ

2
i )

2,

c := c(ω1, ω2) = (1 − ω1)
2(1 − ω2)

2.
5����6



����� SOR ��� MSOR �	�����	����� �������� �/

B����*�� �-&� ��������* ��� ��&��*�	 ��� ��&���-����7 ��� �&�������� ��*����
�� ��� ���
 ��� ���9*���� �� ������� ����9���"� ei7 ��� �*�� i ∈ {1, 2, . . . , q}�

(�������� �0

>���#����� ��� ������ 
��$ ei = +1, ��� 	��� i ∈ {1, 2, . . . , q} 

:��� ��������� ���
 #����� 
�� Ẽ = Iq 	�� N = MH � �� ����#����� � �( ����#����
����	� �����#��� ����	��$

A =

[
Ip −M

−MH Iq

]
∈ C

n,n, 5���=6

�� ����� ��������
�� ��	�	��	
� 	�� ������� ���������#��� )���
����� ��� � ���������
��� Jacobi ����	��$

B =

[
O M

MH O

]
∈ C

n,n 5����6

����� ��������
�� ��� ��� �� ������ μ ∈ SB ������ 
��$

0 ≤ μ2 ≤ β2, �� 0 ≤ β < 1. 5���06

"�
����� �+�+�+ 5 ������
 ���	������ ��� MSOR ���
��� ��� ��� ��������� ���
�
������(��� ��� ����������� D�%����� 
�� ����� �� ����	�
 ��������� (0, 2) × (0, 2) 

%�&����*,���� ������ �-&� ��� ��������
 ���"�� ��� �&-��� ���
� ��&���-��	�7
<����-���� �� ��� �������� %&������

(�/���� �+�+�+ "�� ��� ���	�	���#�� ����	� A ∈ C
n,n #����� 
��$

‖Lω1,ω2‖2
2 =

⎧⎪⎪⎨⎪⎪⎩
max

{
(1 − ω1)

2, (1 − ω2)
2
}

, 
��� T (0) ≥ T (β2),

1
2

[
T (β2) +

√
T 2(β2) − 4c

]
, 
��� T (β2) ≥ T (0),

5���/6

��

⎧⎨⎩
T (β2) := T (ω1, ω2; β

2) = (1 − ω1)
2(1 + ω2

2β
2) + ω2

1β
2 + (1 − ω2 + ω1ω2β

2)2,

c = (1 − ω1)
2(1 − ω2)

2.
5�� (6

)�����<�� �� �&�-���� 5���$6 ���9*��� ��� ��&#
4

ϑ2 − Tϑ + c = 0, 5�� �6



=( ��������	�
��� ��� �
���
����� Norm ��� ����������

��

⎧⎨⎩
T := T (ω1, ω2, σ

2
i ) = (1 − ω1)

2(1 + ω2
2σ

2
i ) + ω2

1σ
2
i + (1 − ω2 + ω1ω2σ

2
i )

2,

c = (1 − ω1)
2(1 − ω2)

2,
5�� �6

��	� ������ ����� ��#"� ��� "
�� ��� �&�������"� �����"� &�,�� ϑ1 ��� ϑ27 �#�� ��
���
���4

ϑ1ϑ2 = c ∈ R
+ ��� ϑ1 + ϑ2 = T ∈ R

+. 5��  6

;����7 �� �&�������"� &�,�� ��� �&�	����� 5�� �6 ����� �� ���������4

ϑ1 = 1
2

[
T +

√
T 2 − 4c

]
∈ R

+,

ϑ2 = 1
2

[
T −

√
T 2 − 4c

]
∈ R

+, �� ϑ1 > ϑ2 > 0.

5�� $6

%�&���&���� �-&� ��� �� ϑ1 := ϑ1(T ) ����� ��<���� ���*&���� ��� T 7 �#��4

∂ϑ1

∂T
=

√
T 2 − 4c + T√

T 2 − 4c
> 0, 5�� �6

��- �� T := T (ω1, ω2, σ
2
i ) �������� ��&�
 ���*&���� ��� σ2

i 7 �����
4

∂T

∂σ2
i

= (1 − ω1)
2ω2

2 + ω2
1 + 2(1 − ω2 + ω1ω2σ

2
i )ω1ω2 5�� =6

���
∂2T

∂(σ2
i )

2
= 2ω2

1ω
2
2 > 0. 5�� �6

����"�	�7 � ���*&���� T := T (ω1, ω2, σ
2
i ) ���9*��� �� �"����� ���
 ��� �� ��� ���

��� ��� ��&���� ���"� ��� ����9���
� σ2
i � G����
7 "
���� ���4

T (β2) = max1≤i≤q T (ω1, ω2, σ
2
i )

���� T (0) = max1≤i≤q T (ω1, ω2, σ
2
i ),

5�� 06

���� ��	&�,���� �	�4

T (β2) = T (ω1, ω2; β
2) = (1 − ω1)

2(1 + ω2
2β

2) + ω2
1β

2 + (1 − ω2 + ω1ω2β
2)2,

T (0) = T (ω1, ω2; 0) = (1 − ω1)
2 + (1 − ω2)

2.
5�� /6



����� SOR ��� MSOR �	�����	����� �������� =�

3����
<��� ������ ��� ����"&���� ���4

‖Lω1,ω2‖2
2 = max

{
1
2

[
T (β2) +

√
T 2(β2) − 4c

]
, 1

2

[
T (0) +

√
T 2(0) − 4c

]}

= max

{
1
2

[
T (β2) +

√
T 2(β2) − 4c

]
, max

{
(1 − ω1)

2, (1 − ω2)
2
}}

.

5��$(6
��

����� ������ �������� �� �<��*����� ���� ���9����� ������* ��� ��� �����&���-8
���� ���"�7 ��� ��&�9-� ��� �� ����� ���� �&�,���� �� 
	&��4

RI :=

{
(ω1, ω2) ∈ (0, 2) × (0, 2) : T (0) ≥ T (β2)

}
,

RII :=

{
(ω1, ω2) ∈ (0, 2) × (0, 2) : T (0) ≤ T (β2)

}
,

5��$�6

���� �&�#��-� ��
��� ���4 RI ∪ RII = (0, 2) × (0, 2)�

.����7 ������� "������ �� ��&����*����� �� 9����� 2�-&��� ��� %�&��&*#��
���
�7 ���#	�� �� �� ����� �&�����&�,���� ��� ���"� �	� ��&��"�&	� ω1 ��� ω2 ���
���
���������� ��� ‖Lω1,ω2‖27 �� ��� �&�F������ ��� �� ���"� ���"� ��
���� ����
���*����� ��&��

 ��������	� ��� MSOR �������7 �����
 ��� ������� ���&*�	��
(0, 2) × (0, 2)�

-����
� �+�+�+ "�� �� ���	�	���#�� ����	� A 	�� ��� �� ������ β ∈ [0, 1)� ��
���������#�� +����� (ω̂1, ω̂2) �� ����� ������������� ��� ‖Lω1,ω2‖2 ������� �� �(
�$⎧⎪⎪⎨⎪⎪⎩

(ω̂1, ω̂2) =
(

1
1+β2 ,

1
1−β2

)
	�� #���$ ‖Lω̂1,ω̂2‖2 =

[
β2

1+β2

] 1
2
, 
��� β2 ∈ [0, 1

3
],

(ω̂1, ω̂2) =
(

4
5+β2 ,

4
3−β2

)
	�� #���$ ‖Lω̂1,ω̂2‖2 = 1+β2

3−β2 , 
��� β2 ∈ [1
3
, 1).

5��$�6

)�����<�� ����*,���� �&
��* ��� �&���

 ��� ��� ���"�� ��� ���#�&*�4

D := T (β2) − T (0) = β2
([

(1 + β2)ω2
2 + 1

]
ω2

1 + 2(1 − 2ω2)ω2ω1 + ω2
2

)
, 5��$ 6

	� ���*&���� ��� ω1�

%&*�����7 ��� �� ����&������ d = 4ω3
2

[
(3 − β2)ω2 − 4

]
��� ���������� �&�	�����7



=� ��������	�
��� ��� �
���
����� Norm ��� ����������

���&���� �� ����� ���4 ⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
d > 0, ���� ω2 ∈

(
4

3−β2 , 2
)
,

d = 0, ���� ω2 = 4
3−β2 ,

d < 0, ���� ω2 ∈
(
0, 4

3−β2

)
.

5��$$6

%�� ��������* �-&�7 �*� d = 07 �� �&�-���� 5��$ 6 ��&����*,�� ��� ����
 &�,� 	�
�&�� ω17 ��� ω1 = 4

5+β2 � C�	&�,���� "��� ��� ��� ���"� ��� ω1 ��������&�� 
 ���&�8
��&�� ��� �� &�,� ���
7 �� ������&��"�� �&�-���� ��#���,�� �&����� ������7 �����

(ω1, ω2) ∈ RII�

,�

� �+�+�+ 8���� 
�� d > 0� �����
 �����+���� ��� ω2 ∈
(

4
3−β2 , 2

)
��� �� ������

β ∈ [0, 1) )
�� �� �������� �< @'! ��������+�� ��� ���	���#�� ��������	#� ��+�� ω̇1

	�� ω̈1� �#����� ���� 0 < ω̇1 < ω̈1 < 2 

)�����<�� ����� ��#"� ��� �� �&�-���� 5��$ 6 "
�� ��� �&�������"�7 ����&��"�
����<� ���� &�,��� )���"��� ������ �� �� �&�����&������ ��� ��&�9
 ���� �"��7
	� �&�� �� ��*����� 5(7�6� ! ������&��"�� ���������� ��� ����� �������7 ���*
�

&���9�&�� %�&��"������ ������ ��� ��&������&�� ������"&���� ��� @�A7 �����/0�

��
����� �-&� � ���*����� �����
 ��� �� �����
����� ��� ��&��

 RI�

(�/���� �+�+�+ 8���� 
�� (ω1, ω2) ∈ RI )
��� � �������������� ��� ‖Lω1,ω2‖2

������������� ��� ������ (ω̂1, ω̂2) =
(

4
5+β2 ,

4
3−β2

)
	�� #��� #����� 
��$

‖Lω̂1,ω̂2‖2 =
1 + β2

3 − β2
. 5��$�6

)�����<�� 59�"�� @�A7 �����/06
��

C�� �� ������&-����� �� ���"�� ��� ����&������� d ��� �&�	����� 5��$ 67 ��"�
����
��� ��� ��&���	�� ���� d < 0� ���� �� �&�-���� ���� ��&����*,�� ��� �������"� &�,��
	� �&�� ω17 ��- �� �&����� ��� ����� ������ ������� G����
 ��
��� ��� T (β2) > T (0)
��� "��� (ω1, ω2) ∈ RII�

����"�	�7 �#������� �� �<��*����� ��������* ��� ��� ��&��

 RII�



����� SOR ��� MSOR �	�����	����� �������� = 

(�/���� �+�+�+ 8���� 
�� (ω1, ω2) ∈ RII \ {−1, 1} )
�� �� (ω̂1, ω̂2) ��� ���������
������ �� ‖Lω1,ω2‖2

2� =���	����� ����(� ��� �������� ������� ��� ������
����$

ζ :=
1

2

[
T (β2) +

√
T 2(β2) − 4c

]
. 5��$=6

�����#��� ���� �� ������� ������ ����� �� 	���#� ��+�� ��� ����	��� ��� ����������
�� ���� ω1$ ⎧⎨⎩

P1(ω1) := a1ω
2
1 + b1ω1 + c1 = 0,

P2(ω1) := a2ω
2
1 + b2ω1 + c2 = 0,

5��$�6


���

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎩

a1 := a1(ω2) = (β6 − β2)ω4
2 + (β4 + β2)ω3

2 + (2β4 + β2 − 1)ω2
2+

+(β2 + 1)ω2 + (β2 + 1),

b1 := b1(ω2) = (−3β4 + 2β2 + 1)ω4
2 + (2β4 − 4β2 − 2)ω3

2+
+(−2β2 + 2)ω2

2 + (2β2 − 2)ω2,

c1 := c1(ω2) = (2β2 − 2)ω4
2 + (−3β2 + 5)ω3

2 + (β2 − 3)ω2
2

5��$06

	��

⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
a2 := a2(ω2) = (β4 + β2)ω2 + β2 + 1,

b2 := b2(ω2) = (−β4 + β2)ω2
2 − 4β2ω2 − 2,

c2 := c2(ω2) = (β2 − 1)ω2
2 + 2ω2.

5��$/6

)�����<�� >&��������-���� ��� ������ ��� �&-��� ��&��-���7 �&�����&�,����
�� ��*���� ������ ��� ����&�
��	� ζ7 ���-� (ω1, ω2) ∈ RII� ��������� "��� ��
��&��*�	 �������4 ⎧⎨⎩

∂ζ
∂ω1

= 0,

∂ζ
∂ω2

= 0.

5���(6

⇐⇒

⎧⎪⎪⎪⎨⎪⎪⎪⎩
∂T
∂ω1

[
T 2 − 4(1 − ω1)

2(1 − ω2)
2
] 1

2
= −T ∂T

∂ω1
− 4(1 − ω1)(1 − ω2)

2,

∂T
∂ω2

[
T 2 − 4(1 − ω1)

2(1 − ω2)
2
] 1

2
= −T ∂T

∂ω2
− 4(1 − ω1)

2(1 − ω2).

5����6



=$ ��������	�
��� ��� �
���
����� Norm ��� ����������

⇐⇒

⎧⎪⎪⎨⎪⎪⎩
∂T
∂ω1

[
T 2 − 4(1 − ω1)

2(1 − ω2)
2
] 1

2
= −T ∂T

∂ω1
− 4(1 − ω1)(1 − ω2)

2,

(ω1 − 1) ∂T
∂ω1

− (ω2 − 1) ∂T
∂ω2

= 0.

5����6

⇐⇒

⎧⎪⎨⎪⎩
[

∂T
∂ω1

(ω1 − 1)
]2

= 2T ∂T
∂ω1

(ω1 − 1) − 4(1 − ω1)
2(1 − ω2)

2,

∂T
∂ω1

(ω1 − 1) − ∂T
∂ω2

(ω2 − 1) = 0.

5��� 6

�� T (β2) �&�,���� ���#	�� �� �� �
"�� 5�� /6� B��&���� ������ �� ����� ���4

∂T
∂ω1

= 2(1 + ω2
2β

2 + β + ω2
2β

2)ω1 − 2(1 + 2ω2β − ω2β),

∂T
∂ω2

= 2ω2β(1 + β)ω2
1 + 2β(1 − 4ω2)ω1 + 2(ω2β − 1 + ω2).

5���$6

)������������� �-&� ���� ��� ��	��"� ��������� ��� ��������� ������� �<��-��	�
��� ����&� ��� �&���"� �&*<��� "
���� �� ����"�����7 ��� ��&��&*#���� ���� ��#-8
���� ��� ������&��"��� %&��*��	��

��

(�/���� �+�+�+ 2� �(������� P1(ω1) = 0 	�� P2(ω1) = 0 ��� ������������ 7�����
���� #���� ��� 	���
 ��+�� 
��� � ������%���� �resultant! ���� R := R(P1, P2) �������
��� �� 1 B����
 ��������� #����� 
��$

R := R(ω2) = (a1c2 − a2c1)
2 − (a1b2 − a2b1)(b1c2 − b2c1) = 0 5����6

⇐⇒ t11ω
11
2 + t10ω

10
2 + t9ω

9
2 + t8ω

8
2 + t7ω

7
2 + t6ω

6
2 + t5ω

5
2 + t4ω

4
2 + t3ω

3
2 + t2ω

2
2 = 0, 5���=6


���$ ⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

t11 := −β16 + 5β14 + 5β10 + 5β8 − 9β6 + 5β4 − β2,
t10 := β16 − 11β14 + 34β12 − 39β10 + 39β6 − 34β4 + 11β2 − 1,
t9 := 2β14 − 22β12 + 58β10 − 46β8 − 26β6 + 62β4 − 34β2 + 6,
t8 := 4β14 − 27β12 + 40β10 + 13β8 − 60β6 + 23β4 + 16β2 − 9,
t7 := 20β12 − 104β10 + 140β8 + 16β6 − 148β4 + 88β2 − 12,
t6 := 4β12 + 16β10 − 108β8 + 112β6 + 60β4 − 128β2 + 44,
t5 := 24β10 − 56β8 − 16β6 + 80β4 − 8β2 − 24,
t4 := 52β8 − 104β6 − 16β4 + 104β2 − 36,
t3 := 48β6 − 48β4 − 48β2 + 48,
t2 := 16β4 − 16.

5����6



����� SOR ��� MSOR �	�����	����� �������� =�

�����#��� 	���� 0 ≤ β < 1� �� �� ��+�� ��� ������%����� R ����� �� �	
������$

0, 0, 1, − 1
β2 ,

1
1−β2 ,

2
1−β2 ,

2
1−β2 , −

[
2

1−β2

] 1
2
, −

[
2

1−β2

] 1
2
,
[

2
1−β2

] 1
2
,
[

2
1−β2

] 1
2
.

6��
��� �� ���#� ��� ω2 ∈ (0, 2) \ {1} ��� 
���� ����� �����	�#� �� ���������#���
������� �������� ������� ��� ������
���� ζ ��� ������������ 7��������� ����� ��
�(
�$ ⎧⎪⎪⎨⎪⎪⎩

ω2 = 1
1−β2 ,

ω2 =
[

2
1−β2

] 1
2
,

	���� 0 < β2 <
1

2
. 5���06

)�����<�� 59�"�� @�A7 �����((6
��

"�
����� �+�+�+ :�� ��������� *������ ����������
���� ����� ������#�� ��������
�� ��� #����� ��� ������%����� ��� ���������� E� ��
�� ����
� �� �� �� ���	
4����
�� ��
 ��� �������� ������	��	
� �����	������ �����#����� ��� ����������� �����%��
���� ��� �� �#�� ���
� ��� 7�������� H8� ���� ���������� ������� ���
� ��� �������� 

.�����&-����� �-&� ��� ������<� ��� 2�	&
����� ����� �� ��� ��&������� ���
��������� %&��*��	��

(�/���� �+�+�+ 2� 	���#� ������ ��� �������� �(�������

{
P1(ω1) = 0
P2(ω2) = 0

��������

��
 ��� #	%����$

−a1c2 − a2c1

a1b2 − a2b1

5���/6

	�� ����� �� �	
������$⎧⎪⎪⎪⎨⎪⎪⎪⎩
(ω1, ω2) =

(
1

1+β2 ,
1

1−β2

)
, ��� 	��� β2 ∈ (0, 1

2
),

(ω1, ω2) =
(

2(5−3β2)−(7−β2)(2−2β2)
1
2

(1+β2)
[
3−β2−2(2−2β2)

1
2

] , [ 2
1−β2

] 1
2

)
, ��� 	��� β2 ∈ (0, 1

2
).

5��=(6

6��
��� ��
 ���#� ������ � ����� ��� β2 ∈ (0, 1/3] =���	���� ���
� ��� RII 

)�����<�� 59�"�� @�A7 �����((8�(�6
��



== ��������	�
��� ��� �
���
����� Norm ��� ����������

(�������� #0

B��
����� 
�� ������$ ei = −1� ��� 	��� i ∈ {1, 2, . . . , q} 

:��� ��������� ���
 #����� 
�� Ẽ = −Iq 	�� N = −MH � �� ����#����� � ����	��$

A =

[
Ip −M

MH Iq

]
∈ C

n,n 5��=�6

�� ����� ��	�	��	
� 	�� ������� ���������#��� )���
������ � ����������� Jacobi
����	��$

B =

[
O M

−MH O

]
∈ C

n,n 5��=�6

����� �������������
�� ��� ��� �� ������ μ ∈ SB ������ 
��$

−α2 ≤ μ2 ≤ 0, ��� 0 ≤ α < +∞. 5��= 6

B����*�� ��������* ��� ��&���	�� ���
7 "
����� ��	� ��’ �:��7 �	� � ��&��

 ��8
������	� ��� MSOR ������� 9&"���� �� ����� �� 
	&�� D7 ��4

D :=

{
(ω1, ω2) ∈ R

2 : 0 < ω1 < 2 ��� 0 < ω2 <
4 − 2ω1

2 − (1 − α2)ω1

}
. 5��=$6

%&*�����7 �� �&�-���� 5���$6 ��&����*,�� �� ��&#
4

ϑ2 − Tϑ + c = 0, 5��=�6

��

⎧⎨⎩
T := T (ω1, ω2, σ

2
i ) = (1 − ω1)

2(1 + ω2
2σ

2
i ) + ω2

1σ
2
i + (1 − ω2 − ω1ω2σ

2
i )

2,

c := c(ω1, ω2) = (1 − ω1)
2(1 − ω2)

2,
5��==6

��- � ����&�����* ��� ����� ��	� ��� ���� �&��������� ��&���	�� �����
7 �� ���"����
�� �&�-���� ���� �� ��&����*,�� ��� �&�������"� &�,�� ϑ1 ��� ϑ27 �� ϑ1 > ϑ2 > 07
����4

ϑ1 = 1
2

[
T +

√
T 2 − 4c

]
∈ R

+,

ϑ2 = 1
2

[
T −

√
T 2 − 4c

]
∈ R

+.

5��=�6

D�����7 �� ϑ1 := ϑ1(T ) ����� ��<���� ���*&���� ��� T 7 ���� �� T := T (ω1, ω2, σ
2
i )

����� ��<���� ���*&���� ��� σ2
i 7 ��� �*�� i ∈ {1, 2, . . . , q}7 �#�� ��
��� ���4

∂T

∂σ2
i

= (ω1 − ω2)
2 + ω2

1ω
2
2 + 2ω2

1ω
2
2σ

2
i > 0 5��=06



����� SOR ��� MSOR �	�����	����� �������� =�

���
∂T 2

∂(σ2
i )

2
= 2ω2

1ω
2
2 > 0, 5��=/6

��� �*�� ω1, ω2 ∈ (0, 2) \ {1}7 ���* ��� ��� �� ��
��� i ∈ {1, 2, . . . , q}� ����� ����"�	�
������ �� ��
����� ��� � ���*&���� T := T (ω1, ω2, σ

2
i ) ���9*��� �� �"����� ���
 ���7

���� �� σ2
i ���������������� ;�
���� �����
 ���4

T (α2) := T (ω1, ω2; α
2) = max

1≤i≤q
T (ω1, ω2, σ

2
i ) 5���(6

��� "��� ���&���� �� ��
�&������� ���4

‖Lω1,ω2‖2
2 = max

{
1

2

[
T (α2)+

√
T 2(α2) − 4c

]
, max

{
(1−ω1)

2, (1−ω2)
2
}}

, 5����6

��

⎧⎨⎩
T (α2) = (1 − ω1)

2(1 + ω2
2α

2) + ω2
1α

2 + (1 − ω2 − ω1ω2α
2)2,

c = (1 − ω1)
2(1 − ω2)

2.
5����6

��

,�

� �+�+�+ :��� ������� ��������� ��� �����+���� �� ���	������� �����������
RI 	�� RII� 
��� ������ ��������#���� ���� 	�� ������ 
��$

1

2

[
T (α2) +

√
T 2(α2) − 4c

]
> max

{
(1 − ω1)

2, (1 − ω2)
2
}

. 5��� 6

)�����<�� %&*�����7 ������ ���&���� �� �������-����� �	� �����
 ��
��� ���4

T (α2) > T (0), ��� �*�� (ω1, ω2) ∈ D, 5���$6

"
���� ���������4

1

2

[
T (α2) +

√
T 2(α2) − 4c

]
> max

{
(1 − ω1)

2, (1 − ω2)
2
}

, 5����6

�� ����� ����� ���� ��� ,���������
��

;)&�7 9�"����� ���4

‖Lω1,ω2‖2
2 =

1

2

[
T (α2) +

√
T 2(α2) − 4c

]
5���=6

��� ������� "��� �� �"�� �� ������-����� �� ����&��� 2�-&��� ��� ��&���-��	�7 ���
�-&� �����*���



=0 ��������	�
��� ��� �
���
����� Norm ��� ����������

-����
� �+�+�+ "�� �� ���	�	���#�� ������
 ��� ����	� A ∈ C
n,n� ������ ��

���������#�� +����� (ω̂1, ω̂2) =
(

1
α2+1

, 1
α2+1

)
∈ D ������������� �� ‖Lω1,ω2‖2 

)�����<�� >&��������-���� ��� ������ ��� �&-��� ��&��-���7 �&�����&�,����
�&
��* �� ��*���� ������ ��� ����&�
��	� φ7 ����4

φ := φ(ω1, ω2) =
1

2

[
T (α2) +

√
T 2(α2) − 4c

]
, 5����6

��� "����� ����<� �	� �����	� ���-�7 ���,��*�� ������ ��� ���
���������� ��� ��8
�*&���� φ�

%&*����� ��� (ω1, ω2) ∈ D ��������� �� ��&��*�	 ��������

⎧⎨⎩
∂φ
∂ω1

= 0,

∂φ
∂ω2

= 0.

⇐⇒

⎧⎪⎪⎨⎪⎪⎩
∂c

∂ω1
T ∂T

∂ω1
− c

[
∂T
∂ω1

]2

−
[

∂c
∂ω1

]2

= 0,

∂c
∂ω2

T ∂T
∂ω2

− c
[

∂T
∂ω2

]2

−
[

∂c
∂ω2

]2

= 0.

5���06

! ���*&���� T (α2) �&�,���� ���#	�� �� �� �
"�� 5����6� ;����7 "
���� ���4

∂T (α2)

∂ω1

= (2 + 2ω2
2α

2 + 2α2 + 2ω2
2α

4)ω1 − 2ω2α
2 − 2, 5���/6

∂T (α2)

∂ω2

= 2ω2α
2(1 + α2)ω2

1 − 2ω1α
2 + 2ω2α

2 + 2ω2 − 2, 5��0(6

��	� ������ ���
∂c

∂ω1

= 2(ω1 − 1)(ω2 − 1)2, 5��0�6

∂c

∂ω2

= 2(ω2 − 1)(ω1 − 1)2. 5��0�6

�&��,������ �&
��* �� ��� �&-�� ��� ��� ��&��*�	 ��� �<��-���� ��� ����
�����
5���067 ����������-���� ��� ��	��"� ���������7 �� ����"����� ��������� �� "
����
�� ��&��*�	 �&�-���� 	� �&�� ω14[

ω4
2α

6 + 2ω4
2α

4 + ω4
2α

2 − ω3
2α

4 − ω3
2α

2 + 2ω2
2α

4 + 3ω2
2α

2 + ω2
2 − ω2α

2 − ω2 + α2 + 1
]
ω2

1+

+
[
ω4

2α
4 + 2ω4

2α
2 + ω4

2 − 2ω3
2α

4 − 4ω3
2α

2 − 2ω3
2 + 2ω2

2α
2 + 2ω2

2 − 2ω2α
2 − 2ω2

]
ω1+

+ω2
2α

2 − ω3
2α

2 − ω3
2 + ω2

2 = 0.
5��0 6



����� SOR ��� MSOR �	�����	����� �������� =/

.� ��� �&�������"� &�,�� ��� ����"��� �� �&�-���� ���� ����� �� ���������4

ω1 = ω2(1−ω2)

ω2
2α2+1

,

ω1 = ω2

ω2
2α2+ω2

2−ω2+1
.

5��0$6

.���	�7 �&��,������ �-&� �� �� �����&� �<��	�� ��� ����
����� 5���067 ����� ���
����������� ��� ��&��*�	 ����-���� 	� �&�� ω14[

ω2
2α

6 + 2ω2
2α

4 + ω2
2α

2 + ω2α
4 + 2ω2α

2 + ω2

]
ω4

1+

+
[
− ω2

2α
4 − ω2

2α
2 − 2ω2α

4 − 4ω2α
2 − 2ω2 − α2 − 1

]
ω3

1+

+
[
2ω2

2α
4 + 3ω2

2α
2 + ω2

2 + 2ω2α
2 + 2ω2 + α2 + 1

]
ω2

1+

+
[
− ω2

2α
2 − 2ω2α

2 − ω2
2 − 2ω2

]
ω1 + ω2

2α
2 + ω2

2 = 0.

5��0�6

.� &�,�� �� ��� ����	����� ����� ����� �� ���������4

ω1 =
1+
√

1−4ω2
2α2−4ω2

2(ω2α2+1)
,

ω1 =
1−
√

1−4ω2
2α2−4ω2

2(ω2α2+1)
,

ω1 =
ω2+1+

√
−3ω2

2+2ω2+1−4ω2
2α2

2(ω2α2+ω2)
,

ω1 =
ω2+1−

√
−3ω2

2+2ω2+1−4ω2
2α2

2(ω2α2+ω2)
.

5��0=6

K��*�� ��� ������ ���� ��� ����"� ������ �	� ����	���	� 5��0 6 ��� 5��0�6� .��8
��7 �<��-����� �� ����
���� 5��0$6 ��� 5��0=67 ��� 9�"����� "��� �	� �� ��������
,����� (ω1, ω2) ��� ���������� �� ����
���� ���* ��� �����
&��� ��
��� ��� 
	&��
��������	� D ��� �
"��	� 5��=$67 ����� �� ��������4( 1

α2 + 1
,

1

α2 + 1

)
. 5��0�6

%&�����&����� ������ �� �&����� ������ ��� ����&�
��	� φ := φ(ω1, ω2)7 ���8
#	�� �*����� �� ���� ,���������� ��&��&������7 ��� ����"��� �-&� �� ���<���� ���



�( ��������	�
��� ��� �
���
����� Norm ��� ����������

�&������� ��� ������ ������ ���
����� ��� ����&�
��	� ���
�� %&*�����7 �� ���
�
�� 
&
�� ��� ������ ��� �����&�� ��&��-���7 �������,���� ��� ��&��*�	 ���������4

∂φ

∂ω1

=
1

2

∂T

∂ω1

+
T ∂T

∂ω1
− 2 ∂c

∂ω1

2
√

T 2 − 4c
, 5��006

∂2φ

∂ω2
1

=
(T + 1)

2

∂2T

∂ω2
1

+
1

2

[ ∂T

∂ω1

]2

− ∂2c

∂ω2
1

−

[
T ∂T

∂ω1
− 2 ∂c

∂ω1

]2

2(T 2 − 4c)
. 5��0/6

�����-� ������&��* �-&� �&�������� �� ��������4

∂φ

∂ω2

=
1

2

∂T

∂ω2

+
T ∂T

∂ω2
− 2 ∂c

∂ω2

2
√

T 2 − 4c
, 5��/(6

∂2φ

∂ω2
2

=
(T + 1)

2

∂2T

∂ω2
2

+
1

2

[ ∂T

∂ω2

]2

− ∂2c

∂ω2
2

−

[
T ∂T

∂ω2
− 2 ∂c

∂ω2

]2

2(T 2 − 4c)
, 5��/�6

��- 
&���,������ ������ ��� ��� ��������4

∂2φ

∂ω1∂ω2

=
(T + 1)

2

∂2T

∂ω1∂ω2

+
1

2

∂T

∂ω1

∂T

∂ω2

− ∂2c

∂ω1∂ω2

−

[
T ∂T

∂ω1
− 2 ∂c

∂ω1

][
T ∂T

∂ω2
− 2 ∂c

∂ω2

]
2(T 2 − 4c)

.

5��/�6

H������,���� �-&� ��� ��������� ��� ��&����*,����� ���� ��&��*�	 �
"����4

∂T
∂ω1

= (2ω2
2α

4 + 2ω2
2α

2 + 2α2 + 2)ω1 − 2ω2α
2 − 2,

∂T
∂ω2

= (2ω2α
4 + 2ω2α

2)ω2
1 − 2α2ω1 + 2ω2α

2 + 2ω2 − 2,

∂2T
∂ω2

1
= 2ω2

2α
4 + 2ω2

2α
2 + 2α2 + 2,

∂2T
∂ω2

2
= 2ω2

1α
4 + 2ω2

1α
2 + 2α2 + 2,

∂2T
∂ω1∂ω2

= 4ω1ω2α
4 + 4ω1ω2α

2 − 2α2

5��/ 6



����� SOR ��� MSOR �	�����	����� �������� ��

��� �����4
∂c

∂ω1
= (ω2 − 1)2(2ω1 − 2),

∂c
∂ω2

= (ω1 − 1)2(2ω2 − 2),

∂2c
∂ω2

1
= 2(ω2 − 1)2,

∂2c
∂ω2

2
= 2(ω1 − 1)2,

∂2c
∂ω1∂ω2

= 4(ω1 − 1)(ω2 − 1).

5��/$6

2�	&���� ������ �� ������ P0 =
(

1
α2+1

, 1
α2+1

)
��� "��� ���&���� �-&�7 ����&� ���

�&���"� �&*<���7 �� �������-����� �	� ��
���� �� ��������4

∂φ
∂ω1

(P0) = 0,

∂2φ
∂ω2

1
(P0) > 0,

∂2φ
∂ω2

1
(P0)

∂2φ
∂ω2

2
(P0) − ∂2φ

∂ω1∂ω2
(P0)

∂2φ
∂ω2∂ω1

(P0) > 0.

5��/�6

;.�	�7 �� ���������� ���"� �
"���� ���-���� ���#	�� �� ��� ������ ��� �����&��
��&��-���7 �	� � ���*&���� φ := φ(ω1, ω2) ��&����*,�� ��*
���� ��� ������&��"��
������ P07 ��&�9-� �����
 ��	� ,���������

��
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�	������	 $%

&��'�
�����

7���	�� 4

Ip . ���������� p × p �������.
O . ��������� �������7 �� �����*���� ��*���� �� ��� ��&���	�� ����


&�������������.
AT . ��*��&�#�� ��� ������ A ∈ C

n1,n2 .
AH . ��,��
� ��������� ��*��&�#�� ��� ������ A ∈ C

n1,n2 .
P ;���� ����������� �������7 �� �����*���� ��*���� �� ��� ��&���	��

���� 
&�������������.
B . ������������� ������� ��� ������� Jacobi.
Lω . ������������� ������� ��� SOR �������7 �� ��&*���&� ω.
Lωb

. ������������� ������� ��� 9"������� SOR �������7 	� �&�� ���
��
����� ��������	�7 �� ��&*���&� ω = ωb.

Lω1,ω2 . ������������� ������� ��� MSOR �������7 �� ��&��"�&��� ω1, ω2.
Lωb,ωb

. ������������� ������� ��� 9"������� MSOR �������7 	� �&�� ���
��
����� ��������	�7 �� ��&��"�&��� ω1 = ω2 = ωb.

?���	�������	� 7���	�� 4

det(A) ! �&�,���� ��� ������ A ∈ C
n,n.

σ(A) �� #*��� �	� �������-� ��� ������ A ∈ C
n,n, �����
 �� ������ �	�

�������-� ���.
SA �� ���&���&� ��&�� ������7 ��� ��&�"
�� ���� ��� �������"� ��� ������ A ∈ C

n,n.
ρ(A) ! #�������
 ������ ��� ������ A ∈ C

n,n, �����
 �� ��������&� ��� �� �"�&�
�	� �������-� ��� ������ �����.

ρsup(A) Supremum #�������
� ������� ��� ������ A ∈ C
n,n.

‖A‖ B�� #����
 norm ��� ������ A ∈ C
n,n.

� 



�$ ��������	�
��� ��� �
���
����� Norm ��� ����������

‖A‖2 ! ���������� 5L�������
6 norm ��� ������ A ∈ C
n,n.

Rk(A
k) ! �"�� ��
����� ��������	� ��� ������������� ������ A ∈ C

n,n ��� ��������
������7 ����&� ��� k ������
:���.

R∞(A) ! �"�� ������	���
 ��
����� ��������	� ��� ������������� ������ A ∈ C
n,n

��� �������� ������.
�(A) . ������� ���*������ ���� ������ A ∈ C

n,n.

I����� ���=������� 4

R �� ������ �	� �&�������-� �&���-�.
C �� ������ �	� �������-� �&���-�.
Reμ �� �&�������� �"&�� ��� ��������� �&����� μ ∈ C.
Imμ �� #��������� �"&�� ��� ��������� �&����� μ ∈ C.
x(k) �� ��*����� x ∈ C

n ���� ������������� ����&�����7 "����� ��� ��� k8���

����*��:�.

e(k) �� ��*�����8�#*��� ���� ������������� ����&�����7 "����� ��� ��� k8���

����*��:�.

R(p, q) ! ������#���� �	� ����	���	� p ��� q.
‖x‖ ! norm ��� ����������� x ∈ C

n.

��



�	������	 (%

)� ����� �������

 -�� .��#�� ���&���

%�&����*,���� ��� ������ ���� �&���"��� ��������"� "������7 ��� ������ 
&���8
�����
���� 
	&�� �������&�� �����&������� ��� ������� ��� �&���
�����

.�	�
/� $!+�+�+ 8���� ����	�� A ∈ C
n,n �� ��� ���
���� AH = A 	������� ��������

�
�� ��� �� �	�������� �� ��#�� AT = A� ��������	
� :���������� ��� ��� #���
��������	
� ��������
� ����	�� ����� ���%���� ��������	
� ������� �������������
�
�����+���� � ����	�� A ��� ��� ����� ������ 
�� AH = −A 

;.��� "��� ������� A ∈ C
n,n ����� �&�������� ���&���� ������ �� �������-�����

��� ��&����*,�� �&���"��� ���������� ������&��"��7 ��&���&���� ��� �� ����-��� ����8

��� ��� ����� �&�������*7 ��	� ���9����� ��� ��� ��� �������"� ���7 ��- �����
&���
����"��� n �&�����* ���<*&���� �������������� xj ∈ C

n \ {0}, �� ����� ���&���� ��
�� ����"<���� "��� -��� �� ����� �&���������*7 �����
 �� ��
��� ���4

(xj, xk)2 = δjk =

{
1, ��8� j = k
0, ��8� j �= k

, ���-� j = 1(1)n ��� k = 1(1)n. 5'1��6

��

.�	�
/� $!+�+�+ 8���� A ∈ C
n,n �� AH = A )
�� � ��������
� ����	�� A �����

����	� �����#��� ���� ������ 
��$ (x,Ax)2

(
= (Ax, x)2

)
> 0 

;���	 ��� "
���� "��� �&������� ��� �����* �&���"�� ������ A ∈ C
n,n� B��&����

���� �� ������<���� ������&��"�� 2�-&���7 �� ����� ���#"&�� �	� �� ����&*:����

��



�= ��������	�
��� ��� �
���
����� Norm ��� ����������

��� ������
���� �&���
 ��� ��� ��� ��������
� ��
�� ���7 � (n− 1)× (n− 1) �������
��� ����"��� �� ����� ������ �&�������� ��� �����* �&���"���� %&�#��-�7 �� �����
�8
�
 �#�&���
 ��� 3�����82�	&
����� �����7 ���&���� �� ���<���� ��� �����
����
�&���"� ��� ��������
�� ��
��� �� ����&*:���� ��� ��� �&
��� ������ A ∈ C

n,n7
� �"�� ������� ��� �&������� ����� �*�� �&�������� ��� �����* �&���"���� D�����7 �
�������� ���
 ��� �<��#���,�� �����
&��� ��� � �&
���� ������� A �� "
�� ��� �� ����8

��� ��� ��&��� ����	���� ��� �����*7 �*�� �� ����� �� ���9����� ��� ��� ��� �������"�
����

���� �����
 ��&���	�� �-&� ���� � A ∈ R
n,n ����� ������&���� ��� �����* �&�8

��"���7 ��	&�,���� ��� ����"
���� ������� 	��� Cholesky7 �����
 ��*&
�� ���������
�*�	 �&��	����� ������� L ∈ R

n,n �� lii > 07 ��� i = 1(1)n7 �"����� -��� �� ��
���
��� LLT = A�

��

.�	�
/� $!+�+�+ B�� ����	�� A,B ∈ C
n,n ����	����+����� �� 
����� ����=���+����

A ∼ B!� ��� ������� �������#4���� ����	�� Q ∈ C
n,n� �#����� ���� �� ������ 
��$

A = Q−1BQ. 5'1��6

. �����
��������� A −→ Q−1AQ ����*,���� �������������
� ����
����� ���
� ������� Q ����	�� ����
����� ��� �����
��������� ������ ������7 � �
"�� A ∼ B
����� ��� �
"�� �����������7 �#�� ��
���� �� ��������� ���������4

�6 A ∼ A 5����������
 ��������67

96 A ∼ B =⇒ B ∼ A 5������&��
 ��������6 ��� �����

�6 A ∼ B ��� B ∼ C =⇒ A ∼ C 5����9����
 ��������6�

(�/���� $!+�+�+ 82��� �� ����	�� A,B ∈ C
n,n ����� 
������ #���� �� ���� %����

��������� 

)�����<�� ;���	 ��
��� �������
 γ ∈ σ(A)� ���� ��������� "
���� ���4

det(A − γI) = 0 ⇐⇒ det(Q−1BQ − γI) = 0

⇐⇒ det(Q−1) det(B − γI) det(Q) = 0 ⇐⇒ det(B − γI) = 0,
5'1� 6

���<��� �����
 ��� γ ∈ σ(B)7 ��	� ��� ,���������

��



����� SOR ��� MSOR �	�����	����� �������� ��

 -�
 Jordan �������	 ��#$	 ���� ������

>&������������ �� �������� 2�-&��� ��� �� ��&����*����� ��� Jordan 	�����	

���%
 ���� ������ A ∈ C

n,n�

-����
� $!+�+�+ "�� 	��� ����	� A ∈ C
n,n ������� �������#4���� ����	�� S ∈ C

n,n�
�#����� ���� �� ������ 
��$

A = SJS−1, 5'1�$6


��� �����+���� 
��$

J = diag(J1, J2, . . . , Jp) 	�� Ji =

⎡⎢⎢⎢⎢⎢⎣
λi 1 0 · · · 0 0
0 λi 1 · · · 0 0
   

   
   

   
   

   
0 0 0 · · · λi 1
0 0 0 · · · 0 λi

⎤⎥⎥⎥⎥⎥⎦ ∈ C
ni,ni , 5'1��6

��� i = 1(1)p 	��
∑p

i=1ni = n 

����
�,���� �� �*����� ��&���&
���� �
����* �� �� ������&��"�� ��*���� ���
������ A� %&*�����7 �&"��� �� ��������� ��� � Jordan 	�����	
 ���%
 ���� ������
����� �������
7 ����� ��� ��
�� �����"���� �	� ����	��	� blocks ��� ������ J 7 ��- ��
λi ��� ��#���,����� ���� ����	����� �	� block ���*�	� Ji ����� �� �������"� ��� ������
A� �*� �� �������"� ��� ������ A ����� ����&��"� ����<� ���� ���� � Jordan �������

��&#
 ��� ����� ����-����

������7 ��� �*�� block Ji ��*&
�� ��� ��
�� ��� ������ S7 � ����� ����� "�� ������*8
����� ��� A� .� ��������� ��
��� ��� S ��� ����"����� �� �� Ji7 ����*,����� 	����
�principal! ���������� ��� A� 2�	&���� �� ��� =���
� ���� ��&��� ����������� �����
� ���&���&�� ��"&���� k7 ��� ��� ����� ��
��� ���4

(A − λI)ku = 0, 5'1�=6

���� λ ����� ��� �������
 ��� ����"���� �� �� u� %&�#��-� "�� ������*����� ����� "��
��&�� ��*����� �� 9���� �� )����7 �� "�� block Ji ���"���� ni7 ��������
��� ni

��&�� ����������7 "�� ��� �*�� 9���� 1, 2, . . . , ni.
�"���7 ����*,���� ����=��	
 �������
���� ��� �������
� λ ∈ σ(A) �� ��
��� �	�

�������-� ��� A ��� ����� ���� �� λ7 ��- ��������	
 �������
���� �������� � ��*���8
�� ��� �&������� ������������� 
-&�� ��� ��&*����� ��� �� �&�����* ���<*&����
�������������� ��� A7 ��� ����"����� �� ��� �������
 ���
�

��
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 -�� %�����$���� ������
���

2�	&���� �� ��&��*�	 ��� ����-���� ���� ����9���
�4

p(x) = a0x
m + a1x

m−1 + · · · + am−1x + am,

q(x) = b0x
n + b1x

n−1 + · · · + bn−1x + bn,
5'1��6

���� ai, bj ∈ C7 ��� i = 0(1)m ��� j = 0(1)n7 �� a0am �= 07 b0bn �= 0 ��� m ≤ n�

%�&����*,���� ��� ������ ���� ��� ����
 ��� �������� ����
��7 	� �&�� ����
���������"� �	� ��&��*�	 ����	���	�7 -��� �� "
��� �� ����-���� ���* ����

&�,�� H���"����� ������ ��� ��*&
�� 
 �= 07 ��� �� ����� ��
��� ���4

p(
) = 0 ⇐⇒ a0

m + a1


m−1 + · · · + am−1
 + am = 0,

q(
) = 0 ⇐⇒ b0

n + b1


n−1 + · · · + bn−1
 + bn = 0.
5'1�06

C�	&�,���� �-&� ��� �� ��� ������� �	� �<��-��	� 5'1�067 �&���"����� �"�� �<��-8
���� ��� ��&#
�4


kp(
) = 0, �� k = 1(1)n − 1,


lq(
) = 0, �� l = 1(1)m − 1,
5'1�/6

���� �� �"� ������� �� "
�� ��&�9-� ��� ����� ������ �� �� �&
��� ������� 5'1�06�
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2�	&���� ����"�	� �� ��&��*�	7 ��������� �� �� 5'1�067 �"� ������� �<��-��	�4


n−1p(
) = 0 ⇐⇒ a0

m+n−1 + a1


m+n−2 + · · · + am−1

n + am
n−1 = 0,


n−2p(
) = 0 ⇐⇒ a0

m+n−2 + a1


m+n−3 + · · · + am−1

n−1 + am
n−2 = 0,

���
���


2p(
) = 0 ⇐⇒ a0

m+2 + a1


m+1 + · · · + am−1

3 + am
2 = 0,


p(
) = 0 ⇐⇒ a0

m+1 + a1


m + · · · + am−1

2 + am
 = 0,

p(
) = 0 ⇐⇒ a0

m + a1


m−1 + · · · + am−1
 + am = 0,


m−1q(
) = 0 ⇐⇒ b0

n+m−1 + b1


n+m−2 + · · · + bn−1

m + bn


m−1 = 0,


m−2q(
) = 0 ⇐⇒ b0

n+m−2 + b1


n+m−3 + · · · + bn−1

m−1 + bn
m−2 = 0,

���
���


2q(
) = 0 ⇐⇒ b0

n+2 + b1


n+1 + · · · + bn−1

3 + bn


2 = 0,


q(
) = 0 ⇐⇒ b0

n+1 + b1


n + · · · + bn−1

2 + bn
 = 0,

q(
) = 0 ⇐⇒ b0

n + b1


n−1 + · · · + bn−1
 + bn = 0.
5'1��(6

>&��������-���� �������7 �� ������� ���� ���&�� �� �&�#�� 	� �<
�4⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

a0 a1 . . . am−1 am 0 0 0 0 · · · 0
0 a0 a1 . . . am−1 am 0 0 0 · · · 0
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

0 0 . . . 0 0 a0 a1 . . . am−1 am 0
0 0 . . . 0 0 0 a0 a1 . . . am−1 am

b0 b1 . . . bm−1 bm · · · bn−1 bn 0 · · · 0
0 b0 b1 . . . bm−1 bm · · · bn−1 bn · · · 0
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

0 0 . . . b1 · · · bm−1 bm · · · bn−1 bn 0
0 0 . . . b0 b1 · · · bm−1 bm · · · bn−1 bn

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

�n+m−1

�n+m−2

�

�

�

�n

�

�

�

�m

�

�

�

�
1

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
=

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0
0
�

�

�

0
�

�

�

0
�

�

�

0
0

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
.

5'1���6
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C�	&�,���� ��	�7 ��� �� ������"� ���� ������� "
�� ��8�������"� ������ ����
��&���	�� ��� � �&�,���� ��� ������ �	� ���������-� ��� ������� �� (� ;)&�7 �
,�������� ����
�� ��� ����� *��� ��� ��� ��������4

R(p, q) = det

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

a0 a1 . . . am−1 am 0 0 0 0 · · · 0
0 a0 a1 . . . am−1 am 0 0 0 · · · 0
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

0 0 . . . 0 0 a0 a1 . . . am−1 am 0
0 0 . . . 0 0 0 a0 a1 . . . am−1 am

b0 b1 . . . bm−1 bm · · · bn−1 bn 0 · · · 0
0 b0 b1 . . . bm−1 bm · · · bn−1 bn · · · 0
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

0 0 . . . b1 · · · bm−1 bm · · · bn−1 bn 0
0 0 . . . b0 b1 · · · bm−1 bm · · · bn−1 bn

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
= 0.

5'1���6
! ������&��"�� �&�,���� ����� ��	��
 	� ���+���� ��� Sylvester 
 ������%���� �re-
sultant! �	� ��&��*�	 ����	���	� p ��� q�

D� ��&*������ �-&�7 ��&����*,���� ��� �����
 ��&���	��7 ���� �� ����-���� p
��� q ��� 
&������������7 ��� ����� *��� ��� �� P1 ��� P2 ����-���� ����"&�� 9��8
���7 	� �&�� ��� ��
��� ����9���
 ω17 ��� �
"��	� 5��$�6� %&*�����7 "��	 ���4

P1 := P1(ω1) = a1ω
2
1 + b1ω1 + c1 = 0,

P2 := P2(ω1) = a2ω
2
1 + b2ω1 + c2 = 0.

5'1�� 6

����7 � ������#���* ���� �������,���� 	� �<
�4

R := R(P1, P2) = det

⎛⎜⎜⎝
a1 b1 c1 0
0 a1 b1 c1

a2 b2 c2 0
0 a2 b2 c2

⎞⎟⎟⎠ , 5'1��$6

��� "��� ������ ���&���� �� ���9�9��-����� ���4

R = 0 ⇐⇒ (a1c2 − a2c1)
2 − (a1b2 − a2b1)(b1c2 − b2c1) = 0. 5'1���6

��
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 -�" /�������	 ��� ����������
 ������ P

)��#�&�
���� �� �&��������� ������ ��� �&������ ���
�7 ���� ���&<� ���*���8
��� ����������� ������ P ∈ R

n,n7 ���� �� 
&
�� �����7 ���<��� ��� �� ������� Lω ���
Lω1,ω2 ���&��� �� �&�#��� ��� ��� �<
� ��&#"�4

Lω = QP T Δ(ω)PQH ��� 5'1��=6

Lω1,ω2 = QP T Δ(ω1, ω2)PQH , 5'1���6

��� ���*������� ������� Q, Δ(ω), Δ(ω1, ω2) ∈ C
n,n ��� (PQH)−1 = QP T �

%�� ������&��"��7 ���� ��� �������-���� 
��� ��� �"�	 ��� ������ P ����#"&���
�� �����
���������� ���� ������� Γω ��� Γω1,ω2 �� block ����-����� ������� Δ(ω) ���
Δ(ω1, ω2) ��������
�� %�&��"����� ������ "�� ���� ��&*������ ��� �� ��&����*�����
�� ���������� ���
7 ���9*������ ��’ �:�� ��� �� ������� Γω ��� Γω1,ω2 "
��� ��� ��&#"�
��� �&�,����� ��� ��� �
"���� 5 ��(6 ��� 5���$67 ��������
��

(�����	�
� $!+�+�+ *������� ����	� Γω ∈ C
5,5� �#���� ����$

Γω =

⎡⎢⎢⎢⎢⎣
a1 0 0 b1 0
0 a2 0 0 b2

0 0 a3 0 0
c1 0 0 d1 0
0 c2 0 0 d2

⎤⎥⎥⎥⎥⎦ . 5'1��06

?������������� �
�� �� ��������	
 ����	� P ∈ R
5,5� � ������ ��������� ���%��� ��

�� �����	����$

P :

⎡⎢⎢⎢⎢⎣
x1

x2

x3

x4

x5

⎤⎥⎥⎥⎥⎦ −→

⎡⎢⎢⎢⎢⎣
x1

x4

x2

x5

x3

⎤⎥⎥⎥⎥⎦ . 5'1��/6

D����	���+���� #��� ��� block �������� ����	� Δ(ω) ∈ C
5,5� ��$

Δ(ω) = PΓ(ω)P T =

⎡⎢⎢⎢⎢⎣
a1 b1 0 0 0
c1 d1 0 0 0
0 0 a2 b2 0
0 0 c2 d2 0
0 0 0 0 a3

⎤⎥⎥⎥⎥⎦ . 5'1��(6
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.���	� ��������*,���� �� ,�������� ���������� ������ P 7 �� ��� ��*���
 ���
"
���� ��� ������ Γω1,ω2 ∈ C

n,n�

�"���7 ��� ��� ���&����� ��� ���"��� ���
�7 ��&��"����� ��� �� ��������&� ��&�8
��	�� ���*�	� Γω, Γω1,ω2 ∈ C

n,n7 �� n = p + q ��� p ≥ q�

%&*�����7 ���� ��&���	�� ���
 �� x := [xk] ∈ R
n7 �&�,���� �� ���������� ������

P 7 �� "
�� ��� ��&��*�	 ��&#
4

[P (x)]k = [xπ(k)], ��� k = 1, 2, . . . , n, 5'1���6

���� �� �����"���� π ����� ���&����� {1, 2, . . . , n}7 �&��������������� ���#	�� ��
�� �������� �

��4⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩

π : k −→ 2k − 1, ���� 1 ≤ k ≤ q,

π : k −→ k + q, ���� q + 1 ≤ k ≤ p,

π : k −→ 2(k − p), ���� p + 1 ≤ k ≤ p + q = n.

5'1���6

��
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[
ρ(T )

]k
��� k

[
ρ(T )

]k−1
7 ��� ρ(T ) = 0.8�
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